

July 11, 2022

Dori Foods, Inc. Attn: Becky Dunn 3410 Norfolk St. Richmond, VA 23230

Reference: IFB#2000003523 – Food Products for the School Lunch Program

Dear Becky Dunn:

Acceptance Agreement

Contract Number: <u>4400011371</u>

This acceptance agreement signifies a contract award to Dori Foods for the School Lunch Program for line items 1, 2, 3, 4, 5, 6, 8, 9, 10, 12, 13, 14, 15, 16, 17, 18, 19, 20, 21, 23, 24, 25, 27, 28, 29, 30, 31, 34, 36, 37, 38, 39, 40, 41, 43, 44, 45, 47, 48, 49, 50, 51, 52, 53, 54, 55, 56, 57, 58, 61, 62, 63, 64, 65, 66, 67, 68, 72, 73, 74, 75, 76, 77, 78, 80, 81, 82, 83, 84, 85, 86, 87, 88, 91, 92, 93, 94, 95, 96, 99, 101, 102, 104, 105, 106, 107, 108, 111, 112, 113, 114, 115, 116, 117, 118, 119, 120, 121, 122, 123, 126, 127, 128, 129, 131, 136, 137, 138, 140, 142, 143, 145, 146 and 147. The period of the contract shall be from Date of Award through June 30, 2027 with the option to renew for two (2) one-year periods.

The contract award shall be in accordance with:

- 1. This Acceptance Agreement;
- 2. The Terms and Conditions of IFB#2000003523, and all addenda;
- 3. Your bid dated May 20, 2022; and
- 4. The attached summarized Pricing Schedule.

Please note that this is not an order to proceed. A purchase order, which constitutes your notice to proceed, will be issued to your company. Please provide your Insurance Certificate according to Special Provisions Paragraph 17 within ten (10) days after receipt of this letter. Contract award documents may be viewed on the Fairfax County, Department of Purchasing and Supply Management website at: www.fairfaxcounty.gov/cregister.

Sincerely,

michiel hust

Michelle R. Pratt Director

MRP/rt

Pricing Schedule

ltem No.	Item Description	Qty	UOM	Price per UOM	Extension	
1.	BARBECUE SAUCE INDIVIDUAL12 GRAMPACKETS	696,400	Each	\$0.06	\$41,784.00	
		3,482	Cases	\$12.88	\$44,848.16	
 Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification required on this product. "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box. STANDARD: C.F. Sauer #06858 or equal. PACK: 200/12 gram packets per case						
PACK I	F DIFFERENT:	BRAND IF DIFFEREN	NT:			
NUMBE	R OF CASES PER PALLET: 234					
	R OF PALLETS PER TRUCKLOAD:	- '				
-	IM ORDER QUANTITY STATED BY T	HE CASE: 234				
PRODUCT SHELF LIFE ¹²⁰ Days						
	ICT SHELF LIFE REFRIGERATED:					
PACKA	GE SHELF LIFE CODE:(check one)					
	Expires On	Pack Code X Born	on (Juaranteed Fresh		

MAXIMUM AMOUNT OF SHELF LIFE THAT COULD BE EXPIRED UPON DELIVERY: 60 DAYS

EXAMPLE OF MFG'S. EXPIRATION DATE CODE: 14021M

EXPLANATION OF MFG'S EXPIRATION DATE CODE: 14-YEAR, 021-JULIAN DATE, M-PLAT=01/21/2014

No

DOES MANUFACTURER PRACTICE HACCP? Yes

Delivery¹⁵calendar days after receipt of order.

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
2.	BARBECUE SAUCE 4/1 GALLON	102,400	Portions	\$0.09	\$9,216.00
		200	Cases	\$47.82	\$9,564.00
					<u> </u>

- Tomato-based barbecue sauce in 4/1 gallon containers. A portion is defined as 2 TBSP (36g).
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by," or "Use by," or any other type of food label dates noting expiration must be on each case.

STANDARD: C.F. Sauer #06187, or equal. PACK: 4/1 Gallon

PACK IF DIFFERENT:	BRAND IF DIFFERENT:					
NUMBER OF CASES PER PALLET:48						
NUMBER OF PALLETS PER TRUCKLOAD:	24					
MINIMUM ORDER QUANTITY STATED BY T	MINIMUM ORDER QUANTITY STATED BY THE CASE:48					
PRODUCT SHELF LIFE150Days						
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF L					
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By	Best Before				
Expires On	Pack Codex Born On	Guaranteed Fresh				
MAXIMUM AMOUNT OF SHELF LIFE THAT (COULD BE EXPIRED UPON DI	ELIVERY: 60 DAYS				
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: 22014M					
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE:22-YEAR, 014-JU	LIAN DATE, M-PLAT=01/21/2022				
DOES MANUFACTURER PRACTICE HACCP Deliverycalendar days after receipt of order.	?YesNo					

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
3.	BROCCOLI FLORETS	260,000	Portions (1/2 Cup)	\$0.33	\$85,800.00
		2,000	Cases	\$40.51	\$81,020.00

- US Grade A.
- Tender, characteristic green broccoli florets.
- Adhere to a similar pack that is stated below for ease in redistribution.
- Product should have a minimum shelf life of 120 days from the date of production.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions.
- "Sell by," or "Use by," or any other type of food label dates noting expiration must be on each case.

STANDARD: Simplot, Simple Goodness, or equal. **PACK**: 12/2lb bags per case.

PACK IF DIFFERENT:	_BRAND IF DIFI	ERENT:			
NUMBER OF CASES PER PALLET: 84					
NUMBER OF PALLETS PER TRUCKLOAD: 2	4				
MINIMUM ORDER QUANTITY STATED BY THE CASE: 84					
PRODUCT SHELF LIFE 180 DAYS					
PRODUCT SHELF LIFE REFRIGERATED:	PROD	UCT SHELF LIFE	FROZEN: <u>720</u>		
PACKAGE SHELF LIFE CODE:(check one)					
Expires On	Pack Code X	Born On	Guaranteed Fresh		
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXPI	RED UPON DELIV	ERY: 90 DAYS		
EXAMPLE OF MFG'S. EXPIRATION DATE CO	DDE: NOV 20	21 01			
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE: NOV-	MONTH, 20-DAY,	21-YEAR, 01-PLANT= 11/20/21		
DOES MANUFACTURER PRACTICE HACCP Delivery					

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
4.	CHEDDAR GOLDFISH CRACKERS WHOLE GRAIN 100	300,000	Each	\$0.27	\$81,000.00
	CALORIE POUCHES	3,000	Cases	\$27.10	\$81,300.00

- Cheddar crackers in character shapes made with whole grain.
- Packaged in individual, non-generic 0.75 oz. packages.
- Each (0.75 oz) package must supply 1oz grain equivalent in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Pepperidge Farms 100 Calorie pouches #18197, or equal. PACK: 100/.75oz pouches per case.

PACK IF DIFFERENT:	BRAND IF DI	FFERENT:		
NUMBER OF CASES PER PALLET: 48				
NUMBER OF PALLETS PER TRUCKLOAD:	24			
MINIMUM ORDER QUANTITY STATED BY	THE CASE: 48			
PRODUCT SHELF LIFE ¹⁸² Days				
PRODUCT SHELF LIFE REFRIGERATED:	PRO	DUCT SHELF LIF	E FROZEN:	
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before	
Expires On <u>X</u>	Pack Code	Born On	Guaranteed Fresh	
MAXIMUM AMOUNT OF SHELF LIFE THAT	COULD BE EXF	PIRED UPON DEL	IVERY: 150 DAYS	
EXAMPLE OF MFG'S. EXPIRATION DATE	CODE: 21-NOV-	16		
EXPLANATION OF MFG'S EXPIRATION DA	TE CODE: NOV	EMBER 16, 2021		
DOES MANUFACTURER PRACTICE HACC Delivery				

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
5.	CREAMER, LIQUID SHELF STABLE	18,000	Each	\$0.07	\$1,260.00
		100	Cases	\$12.12	\$1,212.00

- Creamer, coffee, shelf stable liquid.
- Packaged in 0.38oz containers.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Nestle Coffeemate#35120, or equal. PACK: 180/.38oz containers per case.

PACK IF DIFFERENT:	BRAND IF DIFFERENT:	
NUMBER OF CASES PER PALLET: 140		
NUMBER OF PALLETS PER TRUCKLOAD:	: 24	
MINIMUM ORDER QUANTITY STATED BY T	THE CASE: ¹⁴⁰	
PRODUCT SHELF LIFE270Days		
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF LIFE FROZEN:	_
PACKAGE SHELF LIFE CODE:(check one)	Use By ^X Sell ByBest Before	
Expires On	_ Pack Code Born On Guaranteed Fresh	
MAXIMUM AMOUNT OF SHELF LIFE THAT (COULD BE EXPIRED UPON DELIVERY: 135 DAYS	
EXAMPLE OF MFG'S. EXPIRATION DATE C	CODE: JAN 2021	
EXPLANATION OF MFG'S EXPIRATION DAT	ATE CODE: JANUARY 2021	
DOES MANUFACTURER PRACTICE HACCP Delivery $\frac{15}{2}$ calendar days after receipt of order	CP?Yes No er.	

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
6.	CREAMER, NON-DAIRY	100,000	Each	\$0.02	\$2,000.00
		100	Cases	\$23.97	\$2,397.00

- Creamer, coffee, non-dairy.
- Packaged in 2.8 gm packets.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Diamond Crystal Heart Smart 11778, or equal. PACK: 1000 ct. per case.

PACK IF DIFFERENT: BRAND IF DIFFERENT:				
NUMBER OF CASES PER PALLET: 120				
NUMBER OF PALLETS PER TRUCKLOAD: 2	24			
MINIMUM ORDER QUANTITY STATED BY THE CASE: 120				
PRODUCT SHELF LIFE ³⁶⁵ Days				
PRODUCT SHELF LIFE REFRIGERATED:	PRO	DUCT SHELF LIFE	FROZEN:	
PACKAGE SHELF LIFE CODE:(check one)	Use By <mark>X_</mark>	Sell By	Best Before	
Expires On	Pack Code	Born On	Guaranteed Fresh	
MAXIMUM AMOUNT OF SHELF LIFE THAT	COULD BE EXF	PIRED UPON DELI	VERY: 180 DAYS	
EXAMPLE OF MFG'S. EXPIRATION DATE C	ode: JAN 20)21		
EXPLANATION OF MFG'S EXPIRATION DA		NUARY 2021		
DOES MANUFACTURER PRACTICE HACCF Delivery $\frac{14}{2}$ calendar days after receipt of order	?YesNo			

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
8.	CHEESE PARMESAN, SHREDDED	500	Each (Pound)	\$5.09	\$2,545.00
		100	Cases	\$152.56	\$15,256.00

- Natural 100% Parmesan cheese made from cow's milk.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other food label dates noting expiration must be on each package or box.

STANDARD: Celo #CEL07710, or equal. PACK: 1/5 lb.

PACK IF DIFFERENT:	_BRAND IF DIFF	erent: 6/5LB	
NUMBER OF CASES PER PALLET: 35			
NUMBER OF PALLETS PER TRUCKLOAD: 2	24		
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: <mark>35</mark>		
PRODUCT SHELF LIFE ¹²⁰ Days			
PRODUCT SHELF LIFE REFRIGERATED:			
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before <u>X</u>
Expires On	Pack Code	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT (COULD BE EXPIR		ERY: 30 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: BEST B	Y 12/31/21	
EXPLANATION OF MFG'S EXPIRATION DAT		EMBER 31, 20)21
DOES MANUFACTURER PRACTICE HACCP Delivery $\frac{15}{2}$ calendar days after receipt of order			

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
9.	RANCH DRESSING FOR DIPPING, INDIVIDUAL 12 GRAM PORTIONS, SHELF STABLE	2,440,000	Each	\$0.09	\$219,600.00
	FORTIONS, SHELF STABLE	12,200	Cases	\$18.30	\$223,260.00

- Prefer light product with reduced calories and/or fat.
- Product is to be shelf stable.
- Each 12 gram package should have no more than 6 grams of fat. No more than 90 mg sodium.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other types of food label dates noting expiration must be on each package or box.

STANDARD: C.F. Sauer Foods #06863, or equal. PACK: 200/12gm portions per case

PACK IF DIFFERENT:	_BRAND IF DIF	FERENT			
NUMBER OF CASES PER PALLET: 168	NUMBER OF CASES PER PALLET: 168				
NUMBER OF PALLETS PER TRUCKLOAD:	24				
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 168				
PRODUCT SHELF LIFE ¹²⁰ Days					
PRODUCT SHELF LIFE REFRIGERATED:	PRO	DUCT SHELF LIFE	FROZEN:		
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before		
Expires On	Pack Code $\frac{X}{2}$	Born On	Guaranteed Fresh		
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXP	IRED UPON DELI	VERY: 60 DAYS		
EXAMPLE OF MFG'S. EXPIRATION DATE C	ode: 21014N	1			
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE: 21-Y	′EAR, 014-JULIAN E	DATE, M-PLANT= 01/14/2021		
DOES MANUFACTURER PRACTICE HACCP Delivery <u>15</u> calendar days after receipt of order					

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
10.	DRESSINGS FOR SALADS RANCH LIGHT INDIVIDUAL PORTIONS, 10Z.	142,300	Each	\$0.17	\$24,191.00
		1,423	Cases	\$16.65	\$23,692.95

- No more than 7 grams of fat per 1 oz. No more than 190mg sodium.
- Product is to be shelf stable with easy to open cups or packets. Product is to be gluten free
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Naturally Fresh #347, or equal. PACK: 100/1oz portions per case

PACK IF DIFFERENT:	_BRAND IF DIF	FERENT	
NUMBER OF CASES PER PALLET: 160			
NUMBER OF PALLETS PER TRUCKLOAD:	24		
MINIMUM ORDER QUANTITY STATED BY TH	HE CASE: 160		
PRODUCT SHELF LIFE ¹⁸² Days			
PRODUCT SHELF LIFE REFRIGERATED: 18	82 PRODUCT	SHELF LIFE FROZ	EN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code <u>X</u>	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXP	IRED UPON DELIN	/ERY: 100 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CO	ODE: 81K0424	14	
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE:81K-PI	LANT, 04-MONTH,	22-DAYS, 4-YEAR
DOES MANUFACTURER PRACTICE HACCP Delivery 15 calendar days after receipt of order			

ltem No.	Item Description	Qty	UOM	Price per UOM	Extension	
12.	JELLY, PC	90,000	Each	\$0.09	8,100.00	
		450	Cases	\$18.30	\$8,235.00	
 DESCRIPTION: Individual assorted 0.5 oz. jelly portions. Jolly flavors should consist of apple, grapp, and mixed fruit made with a bland of grapp, and poor juice. 						

- Jelly flavors should consist of apple, grape, and mixed fruit made with a blend of grape and pear juice.
- 200 count PC is the largest count acceptable.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other food label dates noting expiration must be on each package or box.

STANDARD: Sauer's Jelly Assortment #06373, or equal. PACK: 200/.5 oz. portions per box

PACK IF DIFFERENT:	BRAND IF DIFFERENT:
NUMBER OF CASES PER PALLET: 176	
NUMBER OF PALLETS PER TRUCKLOAD: 2	24
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 176
PRODUCT SHELF LIFE 120	
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF LIFE FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before
Expires On	Pack Code X Born On Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT C	COULD BE EXPIRED UPON DELIVERY: 60 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: 21014M
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE : 21-YEAR, 014-JULIAN DATE, M-PLANT = 01/14/21
DOES MANUFACTURER PRACTICE HACCP 10 Delivery calendar days after receipt of order.	Y? Yes No

ltem No.	Item Description	Qty	UOM	Price per UOM	Extension
13.	HOT SAUCE, INDIVIDUAL PACKETS	600,000	Each	\$0.07	\$42,000.00
		3,000	Cases	\$13.97	\$41,910.00

- Hot sauce in individual 7 gram PCs. No more than 200mg sodium.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: C.F. Sauer Foods #06317, or equal. **PACK**: 7 gram packets. 200 per case.

	_BRAND IF DIF	FERENT	
NUMBER OF CASES PER PALLET: 234			
NUMBER OF PALLETS PER TRUCKLOAD: 2			
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: ²³⁴		
PRODUCT SHELF LIFE 120 DAYS			
PRODUCT SHELF LIFE REFRIGERATED:	PROI	DUCT SHELF LIF	FE FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code X	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXP	IRED UPON DEI	LIVERY: 60 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: 21001M		
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE: 21-YE	AR, 001-JULIAN	I DATE, M-PLANT=01/01/2021
DOES MANUFACTURER PRACTICE HACCP Delivery 10calendar days after receipt of			

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
14.	LEMON JUICE PACKETS	10,000	Each	\$0.04	\$400.00
		50	Cases	\$8.91	\$445.50

- Lemon juice in easy to open 4 gram packets.
- 200 count PC is the largest count acceptable.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Diamond Crystal Café Delight #76027, or equal. **PACK:** 4 gram packets. 200 per case.

PACK IF DIFFERENT:	BRAND IF DI	FFERENT: PPI	
NUMBER OF CASES PER PALLET: 390			
NUMBER OF PALLETS PER TRUCKLOAD:	24		
MINIMUM ORDER QUANTITY STATED BY TH	HE CASE: 10		
PRODUCT SHELF LIFE 120 Days			
PRODUCT SHELF LIFE REFRIGERATED:	PRO	DUCT SHELF LIF	E FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code X	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXF	PIRED UPON DEL	IVERY: 60 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CO	ODE: S 015	δE	
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE: S-PL	ANT, 015-JULIA	N DATE, E-YEAR =01/15/2021
DOES MANUFACTURER PRACTICE HACCP Delivery $\frac{15}{2}$ calendar days after receipt of order.	?Yes No		

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
15.	MUSTARD INDIVIDUAL PACKETS 5.5 GM	750,000	Each	\$0.04	\$30,000.00
		1,500	Cases	\$19.21	\$28,815.00

- Prepared pure yellow. No more than 65mg sodium.
- The packet must have a tear slit for ease of opening.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the latest USDA standards. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: C.F. Sauer Foods #06501, or equal. PACK: 5.5 gram packet. 500 per case.

	BRAND IF DIFFERENT:
NUMBER OF CASES PER PALLET: 176	
NUMBER OF PALLETS PER TRUCKLOAD: 2	24
MINIMUM ORDER QUANTITY STATED BY TH	IE CASE: 10
PRODUCT SHELF LIFE Days 180 DAYS	
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF LIFE FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before
Expires On	Pack Code ^X Born On Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXPIRED UPON DELIVERY: 90 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CO	DDE: 21001M
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE: 21-YEAR, 001-JULIAN DATE, M-PLANT=01/01/2021
DOES MANUFACTURER PRACTICE HACCP ? Delivery $\frac{10}{10}$ calendar days after receipt of order.	

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
16.	PAN SPRAY, 21 OZ.	600	Each	\$6.13	\$3,678.00
		100	Cases	\$36.79	\$3,679.00

- Vegetable spray in a can.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Vegalene #22021, or equal. **PACK:** 6/21 ounce per case.

PACK IF DIFFERENT:	_BRAND IF DIFFERENT:				
NUMBER OF CASES PER PALLET: 136					
NUMBER OF PALLETS PER TRUCKLOAD: 2	24				
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 1				
PRODUCT SHELF LIFE Days 730 DAYS					
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF LIFE FROZEN:				
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before				
Expires OnX Pa	ck Code Born On Guaranteed Fresh				
MAXIMUM AMOUNT OF SHELF LIFE THAT C	COULD BE EXPIRED UPON DELIVERY: 60 DAYS				
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: 36521				
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE: DECEMBER 31, 2021				
DOES MANUFACTURER PRACTICE HACCP Delivery $\frac{10}{c}$ alendar days after receipt of order	?Yes No				

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
17.	REFRIED BEANS VEGETARIAN CANNED	1,200	Each (Can)	\$9.43	\$11,316.00
		200	Cases	\$56.56	\$11,312.00

- Vegetarian refried beans made with canola oil. No preservatives and 98% fat free,
- A portion is defined as ½ cup and provides ½ cup vegetable (legume) in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Rosarita Vegetarian Refried Beans #4430010621, or equal. **PACK:** 6/#10 cans per case.

PACK IF DIFFERENT:	BRAND IF DIFFERENT:
NUMBER OF CASES PER PALLET: 48	
NUMBER OF PALLETS PER TRUCKLOAD: 24	4
MINIMUM ORDER QUANTITY STATED BY TH	IE CASE: 1
PRODUCT SHELF LIFE Days 720 DAYS	
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF LIFE FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before
Expires On	Pack Code ^X Born On Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXPIRED UPON DELIVERY300 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CO	DDE:123410040001
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE:
	1234-PLANT, 1-YEAR, 004-JULIAN DATE, 0001 PLANT USE= 01/04/2021
DOES MANUFACTURER PRACTICE HACCP ^{15} Delivery $\frac{15}{2}$ calendar days after receipt of order.	?Yes No

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
18.	RICE, BROWN WHOLE GRAIN PARBOILED	1,084,500	Portions	\$0.05	\$54,225.00
		4,500	Bags	\$22.06	\$99,270.00

- Whole grain brown rice, with only the outer husk removed and the bran layer still intact.
- Parboiled long-meaning the rice underdoes an additional step in the milling process.
- 1 cup of cooked brown rice provides 2oz. grain equivalent in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Producers Rice Mill, Par Excellence Whole Grain Parboiled Rice, or equal. PACK: 25 pounds per bag.

PACK IF DIFFERENT:	BRAND IF DIFFERENT:	
NUMBER OF CASES PER PALLET: 96		
NUMBER OF PALLETS PER TRUCKLOAD: 1	17	
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 10	
PRODUCT SHELF LIFE ²⁷⁰ Days		
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF LIFE FROZEN:	_
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before	
Expires On	Pack Code x Born On Guaranteed Fresh	
MAXIMUM AMOUNT OF SHELF LIFE THAT (COULD BE EXPIRED UPON DELIVERY: 240 DAYS	
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: 1413PRM	
EXPLANATION OF MFG'S EXPIRATION DAT	TE CODE: 149-JULIAN DATE, 1-YEAR, PRM-PLANT= 05/29/2021	
DOES MANUFACTURER PRACTICE HACCP Delivery $\frac{15}{5}$ calendar days after receipt of order		

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
19.	YOGURT, 4 OZ. PRE- PORTIONED, FROZEN	1,440,000	Portions	\$0.48	\$691,200.00
		15,000	Cases	\$46.44	\$696,600.00

- Portion controlled, frozen 4 oz. gluten free, nonfat Grade A yogurt.
- Frozen product that is defrosted with a minimum of 21 days shelf life after thawing.
- Fresh, mild flavor without a tart after-taste. Smooth and creamy texture. Please list available flavors.
- Packaging must be attractive. Container to be completely sealed with a peel-off top.
- One 4oz. container provides 1oz. meat/meat equivalent in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other food label dates noting expiration must be on each package or box.

STANDARD: Buffy's by M&B, or equal. PACK: 96/4oz. per case.

	BRAND IF DI	FFERENT:					
NUMBER OF CASES PER PALLET: 56							
NUMBER OF PALLETS PER TRUCKLOAD: 2	5						
MINIMUM ORDER QUANTITY STATED BY THE CASE: 10							
PRODUCT SHELF LIFE Days 180 DAYS							
PRODUCT SHELF LIFE REFRIGERATED: 30	PRODUCT SH	IELF LIFE FROZEN	I:180 DAYS				
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before				
Expires On 🗙 Pa	ck Code	Born On	Guaranteed Fresh				
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXP	PIRED UPON DELI	VERY: 90 DAYS				
EXAMPLE OF MFG'S. EXPIRATION DATE CO	DDE: APRIL 3	0, 2021					
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE: ONCE 30 DA	E THAWED YOGURT	SHOULD BE CONSUMED WITHI	N			
DOES MANUFACTURER PRACTICE HACCP ^{15} calendar days after receipt of order.							

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
20.	SUNBUTTER, INDIVIDUAL PORTION	43,200	Each (1.1oz.)	\$0.21	\$9,072.00
		100	Cases	\$90.29	\$9,029.00

- Creamy spread processed from sunflower seeds with no hydrogenated oil.
- A portion is defined as 1.1 oz and provides 1oz. meat/meat alternate in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other food label dates noting expiration must be on each package or box.

STANDARD: Sunbutter #19010, or equal. PACK: 6/5lb per case.

PACK IF DIFFERENT:	_BRAND IF [DIFFERENT:				
NUMBER OF CASES PER PALLET: 56	OF CASES PER PALLET: 56					
NUMBER OF PALLETS PER TRUCKLOAD:	20					
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 10					
PRODUCT SHELF LIFE Days 365						
PRODUCT SHELF LIFE REFRIGERATED:	PR	ODUCT SHELF LI	FE FROZEN:			
PACKAGE SHELF LIFE CODE:(check one)	Use By <mark>X</mark>	Sell By	Best Before			
Expires On	Pack Code	Born On	Guaranteed Fresh			
MAXIMUM AMOUNT OF SHELF LIFE THAT	COULD BE E	XPIRED UPON DE	LIVERY: 100 DAYS			
EXAMPLE OF MFG'S. EXPIRATION DATE C	ode: 24th (OF FEB 2021				
EXPLANATION OF MFG'S EXPIRATION DAT	TE CODE: FE	BRUARY 24, 202	!1			
DOES MANUFACTURER PRACTICE HACCP Delivery <u>15</u> calendar days after receipt of order						

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
21.	SUGAR PACKETS	100,000	Each	\$0.01	\$1,000.00
		50	Cases	\$20.44	\$1,022.00

- Granulated cane sugar packed in 1/10-ounce packets.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product;
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Domino #400283, or equal. PACK: 2000 1/10 ounce packets per case.

PACK IF DIFFERENT:	_BRAND IF DIFF	erent: <mark>C&H</mark>	
NUMBER OF CASES PER PALLET: 126			
NUMBER OF PALLETS PER TRUCKLOAD:2	0		
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 10		
PRODUCT SHELF LIFE Days 1825 DAYS			
PRODUCT SHELF LIFE REFRIGERATED:	PRODL	JCT SHELF LIFE F	ROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before <u>X</u>
Expires On	Pack Code	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT O	COULD BE EXPIR	ED UPON DELIVE	ERY: 500 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: 123121		
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE: 12/31/	21	
DOES MANUFACTURER PRACTICE HACCP Delivery $\frac{15}{c}$ alendar days after receipt of order.	?Yes No		

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
23.	TACO SAUCE INDIVIDUAL PACKETS	300,000	Each	\$0.07	\$21,000.00
		1,500	Cases	\$13.06	\$19,590.00

- Tomato paste with seasoning.
- The package must have a tear slit for ease of opening.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: C.F. Sauer #06508, or equal. PACK: 9 gram packets. 200 per case.

PACK IF DIFFERENT: BRAND IF DIFFERENT:			
NUMBER OF CASES PER PALLET: 234			
NUMBER OF PALLETS PER TRUCKLOAD: 2	4		
MINIMUM ORDER QUANTITY STATED BY TH	HE CASE: 10		
PRODUCT SHELF LIFE ¹⁵⁰ Days			
PRODUCT SHELF LIFE REFRIGERATED:	PRO	DUCT SHELF LIF	E FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code X	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXI	PIRED UPON DEL	IVERY: 75 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CO	DDE: 21001N	Л	
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE: 21-Y	′EAR, 001-JULIA	N DATE, M-PLANT=01/01/2021
DOES MANUFACTURER PRACTICE HACCP Delivery $\frac{15}{2}$ calendar days after receipt of order.	?Yes No		

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
24.	SYRUP, INDIVIDUAL CUPS	250,000	Each	\$0.20	\$50,000.00
		2,500	Cases	\$19.61	\$49,025.00

- Syrup suitable for pancakes and waffles, lite variety preferred.
- Syrup to be packaged in cups only, packets not acceptable. The package must be easy to open.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" or "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: C.F. Sauer #306383, or equal. PACK: 1.5oz./100 per case.

	_BRAND IF DI	FFERENT:			
NUMBER OF CASES PER PALLET: 136					
NUMBER OF PALLETS PER TRUCKLOAD: 2	24				
MINIMUM ORDER QUANTITY STATED BY THE CASE:10					
PRODUCT SHELF LIFE Days 180					
PRODUCT SHELF LIFE REFRIGERATED:	PRO	DUCT SHELF LI	FE FROZEN:		
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before		
Expires On	Pack CodeX	Born On	Guaranteed Fresh		
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXI	PIRED UPON DE	LIVERY: 60 DAYS		
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: <u>19001</u> M	1			
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE: 21-Y	EAR, 001-JULI	AN DATE, M-PLANT=01/01/2021		
DOES MANUFACTURER PRACTICE HACCP Delivery <u>15</u> calendar days after receipt of order					

ltem No.	Item Description	Qty	UOM	Price per UOM	Extension
25.	VINEGAR	400	Gallon	\$0.08	\$32.00
		100	Cases	\$19.85	\$1,985.00

- Distilled white vinegar reduced with water to 4%, 5%, and 10% acidity.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Woeber #00212 or equal. **PACK:** 4/1 gallon per case.

PACK IF DIFFERENT: 6/1GAL	_BRAND IF DIFF	ERENT: HEINZ	
NUMBER OF CASES PER PALLET: 28			
NUMBER OF PALLETS PER TRUCKLOAD:	24		
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 10		
PRODUCT SHELF LIFE Days 900			
PRODUCT SHELF LIFE REFRIGERATED:	PRODU	JCT SHELF LIFE	FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before X
Expires On	Pack Code	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT	COULD BE EXPIR	RED UPON DELIV	ERY: 30 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: BEST BY	01-21-21	
EXPLANATION OF MFG'S EXPIRATION DAT	TE CODE: JAN	JARY 21, 2021	
DOES MANUFACTURER PRACTICE HACCE Delivery <u>15</u> calendar days after receipt of order			

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
27.	SOFT FILLED CINNAMON WHOLE GRAIN BREAKFAST BAR, INDIVIDUALLY WRAPPED	504,000	Portions	\$0.52	\$262,080.00
	BAR, INDIVIDUALLI WINAFFED	7,000	Cases	\$37.76	\$264,320.00

- Whole grain breakfast bar filled with creamy cinnamon Neufchatel cheese and no more than 14 grams of sugar per bar. Each bar should weigh approximately 2.36 oz. and provide 2oz. grain equivalent in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: General Mills #100-1800010978-1, or equal. PACK: 72/2.36oz. per case.

PACK IF DIFFERENT:	_BRAND IF DIFF	ERENT:			
NUMBER OF CASES PER PALLET: 96					
NUMBER OF PALLETS PER TRUCKLOAD: 2	24				
MINIMUM ORDER QUANTITY STATED BY T	MINIMUM ORDER QUANTITY STATED BY THE CASE: 10				
PRODUCT SHELF LIFE 186					
PRODUCT SHELF LIFE REFRIGERATED:	PRODU	ICT SHELF LIFE I	FROZEN:		
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before <u>X</u>		
Expires On	Pack Code	Born On	Guaranteed Fresh		
MAXIMUM AMOUNT OF SHELF LIFE THAT (COULD BE EXPIR	ED UPON DELIV	ERY: 50 DAYS		
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: BEST BY	14 JULY 2021			
EXPLANATION OF MFG'S EXPIRATION DAT	FE CODE: JULY ?	14, 2021			
DOES MANUFACTURER PRACTICE HACCP 15 Deliverycalendar days after receipt of order.	?Yes No				

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
28.	LOW SODIUM, ALL NATURAL DARK RED KIDNEY BEANS IN BRINE	36,000	Portions (1/2 cup)	\$1.32	\$47,520.00
		250	Cases	\$31.64	\$7,910.00

- A blend of Dark Kidney beans, Water, Salt, Calcium.
- A portion is defined as and provides ½ cup vegetable (legume) in accordance with the USDA Child Nutrition Program. Once opened, state the refrigerated shelf life.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Furmano's #F11617, or equal. PACK: 6/#10 cans per case.

PACK IF DIFFERENT:	BRAND IF DIFFERENT:			
NUMBER OF CASES PER PALLET: <u>56</u>				
NUMBER OF PALLETS PER TRUCKLOAD: 2	4			
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 56			
PRODUCT SHELF LIFE Days 1260				
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF LIFE FROZEN:			
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before			
Expires On	Pack Code X Born On Guaranteed Fresh			
MAXIMUM AMOUNT OF SHELF LIFE THAT C	COULD BE EXPIRED UPON DELIVERY: 500 DAYS			
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: C11269			
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE _{C=PERIOD} LOT, 11-YEAR, 269-JULIAN DATE= 09/26/21			
DOES MANUFACTURER PRACTICE HACCP Delivery $\frac{15}{2}$ calendar days after receipt of order.				

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
29.	HUMMUS 4.5oz.	245,880	Portions	\$0.67	\$164,739.60
		2,049	Cases	\$64.40	\$131,955.60

- A blend of garbanza beans, lemon juice, olive oil, garlic, citric acid, spice, and salt.
- Each portion 4.5 oz. provides 2oz. meat/meat alternate or 1/2 cup vegetable (legume) in accordance with the USDA Child Nutrition Program.
- Once opened, state the refrigerated shelf life.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Zee Zees Original Hummus Cup #A5050, or equal. PACK: 96/4.5oz per case.

PACK IF DIFFERENT:	BRAND IF DIFFERENT:
NUMBER OF CASES PER PALLET: 35	
NUMBER OF PALLETS PER TRUCKLOAD:	24
MINIMUM ORDER QUANTITY STATED BY	THE CASE: 35
BRODUCT SHELF LIFEDays	005
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF LIFE FROZEN: 365
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before
Expires On X	Pack Code Born On Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT	COULD BE EXPIRED UPON DELIVERY: 30 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE	CODE: EXP 05/11/21
EXPLANATION OF MFG'S EXPIRATION DA	TE CODE: MAY 11, 2021
DOES MANUFACTURER PRACTICE HACC Delivery <u>15</u> alendar days after receipt of orde	

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
30.	MINI FLAT BREAD, WHOLE GRAIN FROZEN	192,000	Portions	\$0.22	\$42,240.00
		1,000	Cases	\$41.85	\$41,850.00

- Whole grain rich mini flat breads.
- Portion is defined as 1 (1oz) flatbread and provides 1 oz. grain equivalent in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Rich's Mini Flat Bread #00828, or equal. **PACK:** 192/1 oz. per case.

PACK IF DIFFERENT:	CK IF DIFFERENT:BRAND IF DIFFERENT:					
NUMBER OF CASES PER PALLET: 70						
NUMBER OF PALLETS PER TRUCKLOAD:2	4					
MINIMUM ORDER QUANTITY STATED BY TI	HE CASE: 70					
PRODUCT SHELF LIFE Days						
PRODUCT SHELF LIFE REFRIGERATED:	PROD	OUCT SHELF LIFE	FROZEN:			
PACKAGE SHELF LIFE CODE:(check one)	Use By <u>X</u>	Sell By	Best Before			
Expires On	Pack Code	Born On	Guaranteed Fresh			
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXP		/ERY:			
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: EXPLANATION OF MFG'S EXPIRATION DATE CODE: EXPLANATION OF MFG'S EXPIRATION DATE CODE: Case code example: 16005345 22:42 USE BY 05/MAY/16 · Manufacturing site code- 1st 4 numbers · Manufacturing line code- 1st 4 numbers · Julian code- last 3 numbers in first set · Time of manufacturing code (Military Time) · Use By Date.						
DOES MANUFACTURER PRACTICE HACCP Delivery $\frac{15}{2}$ alendar days after receipt of order.						

ltem No.	Item Description	Qty	UOM	Price per UOM	Extension
31.	GOLDFISH GRAHAMS BAKED, FRENCH TOAST FLAVOR	300,000	Each	\$0.25	\$75,000.00
		1,000	Cases	\$75.74	\$75,740.00

- Whole grain French toast flavored animal shaped grahams.
- Each 1 oz. bag provides 1 oz. grain equivalent in accordance with the USDA Child Nutrition Program.
- Easy to open. Eye appealing package.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Pepperidge Farm Goldfish Grahams #25082, or equal. PACK: 300 1oz. bags per case.

PACK IF DIFFERENT:	BRAND IF DIFF	ERENT:					
NUMBER OF CASES PER PALLET: <u>30</u>	NUMBER OF CASES PER PALLET: <u>30</u>						
NUMBER OF PALLETS PER TRUCKLOAD: 2	24						
MINIMUM ORDER QUANTITY STATED BY TH	HE CASE: <mark>30</mark>						
PRODUCT SHELF LIFE <u>Days182</u>							
PRODUCT SHELF LIFE REFRIGERATED:	PRODU	CT SHELF LIFE	ROZEN:				
PACKAGE SHELF LIFE CODE:(check one)	Use By <u>X</u>	Sell By	Best Before				
Expires On	Pack Code	Born On	Guaranteed Fresh				
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXPIR	ED UPON DELIVI	ERY: 90 DAYS				
EXAMPLE OF MFG'S. EXPIRATION DATE CO	DDE: USE BY 0	9-12-21					
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE:SEPTE	MBER 12, 202	1				
DOES MANUFACTURER PRACTICE HACCP Delivery $\frac{15}{c}$ alendar days after receipt of order.	?Yes No						

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
34.	SEASONING MIX, SPANISH	76,800	Portions (1/2 Cup)	\$0.31	\$23,808.00
		80	Cases	\$35.54	\$2,843.20

- Mildly seasoned mix with light beef broth flavor containing tomato, onion, red and green pepper and celery pieces to be mixed with rice.
- A portion is defined as the mix needed to make ½ cup grain serving when mixed with rice or another grain such as noodles.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration is required on each package or box.

STANDARD: Bernard Spanish Rice seasoning #301153, or equal. **PACK**: 8/2lb. bags per case (960 portions)

PACK IF DIFFERENT: 6/36OZ	BRAND IF DIFFERENT: FOOT HILL FARMS						
NUMBER OF CASES PER PALLET: 133							
NUMBER OF PALLETS PER TRUCKLOAD: 2	: 0						
MINIMUM ORDER QUANTITY STATED BY TH	HE CASE: 10						
PRODUCT SHELF LIFE ⁵⁴⁵ Days							
PRODUCT SHELF LIFE REFRIGERATED:	PRODL	JCT SHELF LIFE I	FROZEN:				
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before				
Expires On	Pack Code X	Born On	Guaranteed Fresh				
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXPIR	ED UPON DELIV	ERY: 45 DAYS				
EXAMPLE OF MFG'S. EXPIRATION DATE C	EXAMPLE OF MFG'S. EXPIRATION DATE CODE: B21136P						
EXPLANATION OF MFG'S EXPIRATION DATE CODE: B-PLANT, 21-YEAR, 136-JULIAN DATE, P-MACHINE LETTER ID							
DOES MANUFACTURER PRACTICE HACCP Delivery <u>15</u> alendar days after receipt of order.	? Yes No						

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
36.	CRACKERS, CHEESE	1,225,000	Each	\$0.19	\$232,750.00
		7,000	Cases	\$33.00	\$231,000.00

- Cheese flavored, crisp crunchy crackers made with whole grain.
- Each 0.75oz. package must provide 1oz. grain equivalent in accordance with the USDA Child Nutrition Program.
- Product is to be prepackaged in non-generic wrapping.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Kellogg's Cheez-Its #09685, or equal. PACK: 175/.75oz. bags per case

PACK IF DIFFERENT:	BRAND IF DIFFERENT:
NUMBER OF CASES PER PALLET: 35	
NUMBER OF PALLETS PER TRUCKLOAD: 2	4
MINIMUM ORDER QUANTITY STATED BY TH	HE CASE: 35
PRODUCT SHELF LIFE -Days 240	
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF LIFE FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before
Expires On ^{-X} Pao	ck Code Born On Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT C	COULD BE EXPIRED UPON DELIVERY: 100 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CO	ODE: C073111M
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE: 07-MONTH, 31-DAY, 11-YEAR = 07/31/2021
DOES MANUFACTURER PRACTICE HACCP 15 Delivery <u>c</u> alendar days after receipt of order.	?Yes No

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
37.	ENGLISH MUFFINS, WHOLE GRAIN	64,800	Each	\$0.23	\$14,904.00
		450	Cases	\$33.65	\$15,142.50

- 3.5 inch diameter muffins. Six (6) per package. Product is to be made from good quality whole grain.
- Each muffin must weigh 2.0 oz. and provide 2oz grain equivalent in accordance with the USDA Child Nutrition Program.
- Must be prepared with vegetable oils or vegetable shortening only.

STANDARD: Bakecrafter #802 or equal. PACK: 12/12-2oz.

- Required product to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

PACK IF DIFFERENT: ______BRAND IF DIFFERENT: NUMBER OF CASES PER PALLET: 42 NUMBER OF PALLETS PER TRUCKLOAD:24 MINIMUM ORDER QUANTITY STATED BY THE CASE: 42 PRODUCT SHELF LIFE⁵⁴⁵Days PRODUCT SHELF LIFE REFRIGERATED: ______PRODUCT SHELF LIFE FROZEN: ______ PACKAGE SHELF LIFE CODE:(check one) Use By ____ Sell By ____ Best Before ______ Expires On ___ Pack Code X Born On ___ Guaranteed Fresh _____ MAXIMUM AMOUNT OF SHELF LIFE THAT COULD BE EXPIRED UPON DELIVERY: 200 DAYS EXAMPLE OF MFG'S. EXPIRATION DATE CODE: 05/14/21 TO 05/14/22 EXPLANATION OF MFG'S EXPIRATION DATE CODE: DATE OF MANUFACTURE TO DATE OF EXPIRATION DOES MANUFACTURER PRACTICE HACCP? Yes No Delivery _calendar days after receipt of order.

Extension
\$686,000.00
\$692,650.00

- Frozen noodles made from 51% whole grain wheat flour.
- One 2.8oz. serving prepared provides 2oz grain equivalent in accordance with the USDA Child Nutrition Program.
- A portion is defined as 1 cup of cooked noodles (2oz) with sauce (0.8oz) provides 1oz. grain equivalent.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Ling Yang's Chow Mein #00301-6, or equal. **PACK:** 4/2.5lb. noodles and 4/16 oz. sauce.

PACK IF DIFFERENT:	_BRAND IF DIF	FERENT:	
NUMBER OF CASES PER PALLET: 108			
NUMBER OF PALLETS PER TRUCKLOAD: 2	24		
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 10		
PRODUCT SHELF LIFE ³⁶⁵ Days			
PRODUCT SHELF LIFE REFRIGERATED:	PROD	UCT SHELF LIFE	FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code X	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT (COULD BE EXPI	RED UPON DELIN	/ERY: 185 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: 011121 1	12:30	
EXPLANATION OF MFG'S EXPIRATION DAT		ONTH, 11-DAY.	21-YEAR= 01/11/21
DOES MANUFACTURER PRACTICE HACCP Delivery $\frac{15}{2}$ calendar days after receipt of order			

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
39.	WAFFLES, MINI FROZEN	432,000	Package	\$0.42	\$181,440.00
		6,000	Cases	\$30.02	\$180,120.00

- Whole grain mini waffles, eight count, individually ovenable wrap.
- One (1) package provides 2oz. grain equivalent in accordance with the USDA Child Nutrition Program.
- Desired flavor is Maple. .
- Required product information is to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Kellogg's Eggo Mini Waffle Bites #92315, or equal. PACK: 72/2.64 oz. per case.

PACK IF DIFFERENT:	BRAND IF DIFFERENT:						
NUMBER OF CASES PER PALLET: 56							
NUMBER OF PALLETS PER TRUCKLOAD: 24							
MINIMUM ORDER QUANTITY STATED BY TH	HE CASE: 10						
PRODUCT SHELF LIFEDays	005						
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF LIFE FROZEN: 365						
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before						
Expires On	Pack Code X Born On Guaranteed Fresh						
MAXIMUM AMOUNT OF SHELF LIFE THAT C	COULD BE EXPIRED UPON DELIVERY: 180 DAYS						
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: FM051011C375							
EXPLANATION OF MFG'S EXPIRATION DATE CODE: 05-MONTH, 10-DAY, 11-YEAR= 05/10/21							
DOES MANUFACTURER PRACTICE HACCP Delivery ¹⁵ / ₂ calendar days after receipt of order.	? Yes No						

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
40.	SALSA, CANNED	128,700	Portions (1/4 Cup)	\$0.07	\$9,009.00
		650	Cases	\$44.33	\$28,814.50

- Salsa made with tomato puree, diced tomatoes, jalapeno peppers, onion, garlic, and spices.
- One 3oz. portion provides ½ cup red/orange vegetable in accordance with the USDA Child Nutrition Program.
- A portion is defined as 3oz. of salsa and disher/scoop size or number listed to provide ½ cup serving of red/orange vegetable
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Red Gold Mild Salsa Enhanced #REDC99, or equal. **PACK:** 6/#10 cans per case.

PACK IF DIFFERENT: BRAND IF DIFFERENT:						
NUMBER OF CASES PER PALLET: 56						
NUMBER OF PALLETS PER TRUCKLOAD:24	4					
MINIMUM ORDER QUANTITY STATED BY TH	HE CASE: 10					
PRODUCT SHELF LIFE Days						
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF LIFE FROZEN:					
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before					
Expires On	Pack Code 🕺 Born On Guaranteed Fresh					
MAXIMUM AMOUNT OF SHELF LIFE THAT COULD BE EXPIRED UPON DELIVERY: 450 DAYS						
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: AA99(I) (O) (Y) (DDD) (HHMM)						
EXPLANATION OF MFG'S EXPIRATION DATE CODE: (Y) YEAR, (DDD) JULIAN DAY						
DOES MANUFACTURER PRACTICE HACCP? Yes No Delivery <u>15</u> calendar days after receipt of order.						

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
41.	BANANA BREAD, SLICED WHOLE GRAIN, INDIVIDUALLY	1,968,000	Each	\$0.55	\$1,082,400.00
WRAPPED	WRAPPED	41,000	Cases	\$26.34	\$1,079,940.00

- Prebaked, frozen banana loaf slice with minimum weight per portion of 3.6oz, made with a minimum of 50% whole grain wheat flour. Pre-sliced, individually wrapped. Individually frozen for maximum freshness.
- A portion is defined as one (1) individually wrapped slice and provides 2oz grain equivalent in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Muffin Town #52675, or equal. PACK: 48/3.6oz. per case.

PACK IF DIFFERENT:	BRAND IF DIFFERENT:					
NUMBER OF CASES PER PALLET: 84						
NUMBER OF PALLETS PER TRUCKLOAD:	24					
MINIMUM ORDER QUANTITY STATED BY T	THE CASE:84					
PRODUCT SHELF LIFE ³⁶⁵ Days						
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF LIFE FROZEN: <u>365</u>					
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before					
Expires On <u>X</u>	Pack Code Born On X Guaranteed Fresh					
MAXIMUM AMOUNT OF SHELF LIFE THAT	COULD BE EXPIRED UPON DELIVERY: 150 DAYS					
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: 05/14/21 TO 05/14/22						
EXPLANATION OF MFG'S EXPIRATION DAT	TE CODE: DATE OF MANUFACTURE TO DATE OF EXPIRATION					
DOES MANUFACTURER PRACTICE HACCE Delivery <u>15</u> alendar days after receipt of order.						

ltem No.	Item Description	Qty	UOM	Price per UOM	Extension
43.	BAGEL, HONEY WHOLE GRAIN SLICED FROZEN BULK	168,000	Portions	\$0.26	\$43,680.00
		2,000	Cases	\$21.64	\$43,280.00

- Frozen pre-sliced bagel, 2oz. bulk pack of whole grain and enriched flour.
- A portion is defined as one (1) bagel that provides 2oz. grain equivalents in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other food label dates noting expiration must be on each package or box.

STANDARD: Muffin Town #94695, or equal. PACK: 84/2oz. per case. PACK IF DIFFERENT: ______BRAND IF DIFFERENT: NUMBER OF CASES PER PALLET: 60 NUMBER OF PALLETS PER TRUCKLOAD: 24 MINIMUM ORDER QUANTITY STATED BY THE CASE: 60 PRODUCT SHELF LIFE _Days 180 PRODUCT SHELF LIFE REFRIGERATED: ______PRODUCT SHELF LIFE FROZEN: 180 PACKAGE SHELF LIFE CODE:(check one) Use By ____ Sell By ___ Best Before _____ Expires On X Pack Code __ Born On X Guaranteed Fresh ____ MAXIMUM AMOUNT OF SHELF LIFE THAT COULD BE EXPIRED UPON DELIVERY: 90 DAYS EXAMPLE OF MFG'S. EXPIRATION DATE CODE: 05/14/21 TO 05/14/22 EXPLANATION OF MFG'S EXPIRATION DATE CODE: DATE OF MANUFACTURE TO DATE OF EXPIRATION DOES MANUFACTURER PRACTICE HACCP? Yes No Delivery¹ calendar days after receipt of order.
Item No.	Item Description	Qty	UOM	Price per UOM	Extension
44.	MUFFIN TOPS	1,968,000	Each	\$0.58	\$1,141,440.00
		41,000	Cases	\$27.96	\$1,146,360.00

- Prebaked, frozen muffin top, made with whole grain and enriched flour in order to meet the USDA whole grain requirement.
- Approximately 3.1 oz. individually wrapped. Individually frozen for maximum freshness.
- Desired flavors: blueberry, and apple cinnamon.
- Portion is defined as one (1) muffin provides 2oz. grain equivalent in accordance with the USDA Child Nutrition Program.
- Required product to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Muffin Town Apple Cinnamon #01666 &Blueberry #0166, or equal. **PACK:** 48/3.1 oz. per case.

PACK IF DIFFERENT:BRAND IF DIFFERENT:
NUMBER OF CASES PER PALLET: 110
NUMBER OF PALLETS PER TRUCKLOAD:24
MINIMUM ORDER QUANTITY STATED BY THE CASE: 10
PRODUCT SHELF LIFEDays 365
PRODUCT SHELF LIFE REFRIGERATED:PRODUCT SHELF LIFE FROZEN: 365
PACKAGE SHELF LIFE CODE:(check on_e) Use By Sell By Best Before
Expires On X Pack Code Born On X Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT COULD BE EXPIRED UPON DELIVERY: 150 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: 05/14/21 TO 05/14/22
EXPLANATION OF MFG'S EXPIRATION DATE CODE: DATE OF MANUFACTURE TO DATE OF EXPIRATION
DOES MANUFACTURER PRACTICE HACCP? Yes No Delivery ¹⁰ calendar days after receipt of order.

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
45.	CHICKEN STRIPS IN TERIYAKI SAUCE, GLUTEN FREE	480,000	Each	\$1.01	\$484,800.00
		3,000	Cases	\$241.70	\$725,100.00

- Fully cooked chicken strips caramelized in gluten free Teriyaki sauce.
- Provide disher size to meet the 2.85 oz. serving.
- Portion is defined as one 2.85oz serving equal to 2oz. meat equivalent in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, meat contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Asian Solutions #73005, or equal. PACK: Four 7.15 lb. bags per case.

PACK IF DIFFERENT: 73001, 6/7.15lb BRAND IF DIFFERENT:						
NUMBER OF CASES PER PALLET: 48						
NUMBER OF PALLETS PER TRUCKLOAD:	24					
MINIMUM ORDER QUANTITY STATED BY THE CASE:48						
PRODUCT SHELF LIFE Days						
PRODUCT SHELF LIFE REFRIGERATED: _	PRODU	JCT SHELF LIFE	FROZEN:			
PACKAGE SHELF LIFE CODE:(check one)						
Expires On X	Pack Code	Born On	Guaranteed Fresh			
MAXIMUM AMOUNT OF SHELF LIFE THAT	COULD BE EXPIR	RED UPON DELIV	ERY: 250 DAYS			
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: EXP 10-11-21						
EXPLANATION OF MFG'S EXPIRATION DA		DBER 11, 2021				
DOES MANUFACTURER PRACTICE HACC Delivery <u>10</u> calendar days after receipt of orde						

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
47.	SOY BUTTER (PEANUT BUTTER REPLACEMENT) SHELF STABLE	50,000	Each	\$0.32	\$16,000.00
		500	Casess	\$31.79	\$15,895.00

- Soy butter made from non-GM toasted soy, non-GM soy oil, cane sugar, monoglyceride and sea salt.
- Each 1.12 oz. package must provide 1oz.meat/meat alternate in accordance with the USDA Child Nutrition Program.
- Produced in non-peanut facility, gluten free.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Wowbutter #10920, or equal. PACK: 100/1.12oz. packages per case.

PACK IF DIFFERENT:	BRAND IF DIFF	ERENT:				
NUMBER OF CASES PER PALLET: 90						
NUMBER OF PALLETS PER TRUCKLOAD:24	4					
MINIMUM ORDER QUANTITY STATED BY THE CASE: 10						
PRODUCT SHELF LIFE Days						
PRODUCT SHELF LIFE REFRIGERATED:	PRODL	JCT SHELF LIFE I	FROZEN:			
PACKAGE SHELF LIFE CODE:(check one)	Use By [_]	Sell By	Best Before X			
Expires On	Pack Code	Born On	Guaranteed Fresh			
MAXIMUM AMOUNT OF SHELF LIFE THAT (COULD BE EXPIR	RED UPON DELIV	ERY: 300 DAYS			
EXAMPLE OF MFG'S. EXPIRATION DATE CO	EXAMPLE OF MFG'S. EXPIRATION DATE CODE: 01-JAN-21					
EXPLANATION OF MFG'S EXPIRATION DAT	TE CODE: JANU	IARY 01, 2021				
DOES MANUFACTURER PRACTICE HACCP 10 Deliverycalendar days after receipt of order.	?Yes No					

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
48.	CORN DOG NUGGETS, WHOLE GRAIN	1,400,000	Portions	\$0.73	\$1,022,000.00
		35,000	Cases	\$28.48	\$996,800.00

- Fully cooked whole grain batter-wrapped chicken franks.
- Individually quick frozen in bite size form (.67oz) to lock in freshness and extend shelf life.
- A portion is defined as six (6) nuggets and must provide 2oz. meat equivalents and 2oz. grain equivalents in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each packager or box.

STANDARD: Tools for Schools #2045	4, or equal. PACK:	2/5lb. or 240 pieces	(40/6 nugget servings p	per case).
-----------------------------------	--------------------	----------------------	-------------------------	------------

PACK IF DIFFERENT:	BRAND IF DIFFERENT:				
NUMBER OF CASES PER PALLET: 120					
NUMBER OF PALLETS PER TRUCKLOAD: 2	24				
MINIMUM ORDER QUANTITY STATED BY THE CASE: 10					
PRODUCT SHELF LIFE 365 Days					
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF LIFE FROZEN: 365				
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before				
Expires On	Pack Code X Born On Guaranteed Fresh				
MAXIMUM AMOUNT OF SHELF LIFE THAT (COULD BE EXPIRED UPON DELIVERY: 150 DAYS				
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: 21365					
EXPLANATION OF MFG'S EXPIRATION DATE CODE: 21-YEAR, 365 JULIAN DATE = 12/31/21					
	,				

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
49.	TORTILLA YELLOW ROUND CHIPS, BULK	1,660,000	Portions	\$0.13	\$215,800.00
		20,000	Cases	\$17.11	\$342,200.00

- Bulk pack, plain yellow round tortilla chips prepared in all vegetable oil, gluten free.
- 1.6 ounces provides a minimum of 2oz. grain equivalent in accordance with the USDA Child Nutrition Program.
- Must state the number of chips that provides 2oz. grain equivalent for the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Tostitos Crispy Round WGR52399#40404 Tortilla Chips, or equal. PACK: 8/16oz. ounce bags per case

PACK IF DIFFERENT:.	BRAND IF DIFF	ERENT:	
NUMBER OF CASES PER PALLET: 36			
NUMBER OF PALLETS PER TRUCKLOAD:	24		
MINIMUM ORDER QUANTITY STATED BY T	HE CASE:36		
PRODUCT SHELF LIFE 70 Days			
PRODUCT SHELF LIFE REFRIGERATED: _	PRODU	JCT SHELF LIFE	FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before <u>X</u>
Expires On	Pack Code	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT	COULD BE EXPI	RED UPON DELIV	ERY: 30 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: BEST BY	JAN 21, 2021	
EXPLANATION OF MFG'S EXPIRATION DA	TE CODE: JAN	UARY 21, 2021	
DOES MANUFACTURER PRACTICE HACCI Delivery <u>10</u> calendar days after receipt of orde	P?Yes No er.		

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
50.	PEPPER, INDIVIDUAL PACKETS	150,000	Each	\$0.01	\$1,500.00
		50	Cases	\$19.08	\$954.00

- Black pepper in individual packets, .10 gram weight.
- Packets must break open easily.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other food label dates noting expiration must be on each package or box.

STANDARD: Diamond Crystal #14462, or equal. **PACK:** 3/1000 count per case.

PACK IF DIFFERENT:	_BRAND IF DIFF	ERENT:	
NUMBER OF CASES PER PALLET: 200			
NUMBER OF PALLETS PER TRUCKLOAD: 2	24		
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 10		
PRODUCT SHELF LIFE ⁷³⁰ Days	10		
PRODUCT SHELF LIFE REFRIGERATED:	PRODU	JCT SHELF LIFE F	ROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code X	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT C	COULD BE EXPIR	ED UPON DELIVI	ERY: 365 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: S 016 E		
EXPLANATION OF MFG'S EXPIRATION DAT	TE CODE: S-PLA	NT, 016-JULIAN [DATE, E-YEAR= 01/16/21
DOES MANUFACTURER PRACTICE HACCP Delivery ¹⁰ / calendar days after receipt of order	? Yes No		

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
51.	SALAD DRESSING, ITALIAN-12 GRAM PACKETS-REDUCED CALORIE-SHELF STABLE	200,000	Each	\$0.10	\$20,000.00
	CALONIE-SHEEF STABLE	1,000	Cases	\$19.96	\$19,960.00

- Italian Dressing-made with vinegar, soybean oil and Italian herbs.
- Product must be shelf stable.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: C.F. Sauer #06393, or equal. PACK: 200/12 gram

PACK IF DIFFERENT:	_BRAND IF DIF	FERENT	
NUMBER OF CASES PER PALLET: 144			
NUMBER OF PALLETS PER TRUCKLOAD: 2	24		
MINIMUM ORDER QUANTITY STATED BY T PRODUCT SHELF LIFEDays	HE CASE: 10		
PRODUCT SHELF LIFEDays			
PRODUCT SHELF LIFE REFRIGERATED:	PRO	OUCT SHELF LIF	E FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code X	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT (COULD BE EXP	IRED UPON DEL	IVERY: 90 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ode:21001M		
EXPLANATION OF MFG'S EXPIRATION DAT	re code: _{21-ye}	EAR, 001-JULIAN	DATE, M-PLANT=01/01/2021
DOES MANUFACTURER PRACTICE HACCP Delivery ¹⁰ calendar days after receipt of order.			

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
52.	PEPPERONI, SLICED, UNCURED	32,000	Pound	\$5.70	\$182,400.00
		3,200	Cases	\$57.04	\$182,528.00

- Thinly sliced high quality pepperoni made from pork for use on pizza.
- No nitrites or nitrates except for naturally occurring nitrates found in celery powder.
- Must state the number of slices that contribute to 1oz. meat/meat alternate equivalents in accordance with the Child Nutrition Program.
- Each ounce should yield at least 14 to 16 pepperoni slices.
- Maximum 5lb. bags are required for ease of redistribution.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other food label dates noting expiration must be on each package or box.

STANDARD: Armour Eckrich Marghertia, or equal. PACK: 2/5-pound bags per case.

PACK IF DIFFERENT:BRAND IF DIFFERENT:
NUMBER OF CASES PER PALLET: 80
NUMBER OF PALLETS PER TRUCKLOAD: 24
MINIMUM ORDER QUANTITY STATED BY THE CASE: 80
PRODUCT SHELF LIFE Days 120
PRODUCT SHELF LIFE REFRIGERATED: <u>120</u> PRODUCT SHELF LIFE FROZEN:
PACKAGE SHELF LIFE CODE:(check one) Use By Sell By Best Before
Expires On Pack Code Born On Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT COULD BE EXPIRED UPON DELIVERY: 60 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: USE BY 07-03-21
EXPLANATION OF MFG'S EXPIRATION DATE CODE: JULY 03, 2021
DOES MANUFACTURER PRACTICE HACCP? Yes No Delivery <u>Calendar days after receipt of order</u> .

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
53.	TURKEY, GRAVY MIX LOW SODIUM	19,200	Portions	\$4.54	\$87,168.00
		300	Cases	\$36.35	\$10,905.00

- Powdered turkey gravy mix to be prepared with hot water.
- Mildly seasoned and flavored sauce made from poultry, thickening agents and herbs.
- Sodium should not exceed 125mg per 2fl. oz. prepared.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Major Products Company #81701 PACK: 8/ 1lb. per case

PACK IF DIFFERENT:	_BRAND IF DIFFI	ERENT: TRIO	
NUMBER OF CASES PER PALLET: 112			
NUMBER OF PALLETS PER TRUCKLOAD:2	4		
MINIMUM ORDER QUANTITY STATED BY TH	HE CASE: 10		
PRODUCT SHELF LIFEDays			
PRODUCT SHELF LIFE REFRIGERATED:	PRODU	ICT SHELF LIFE F	ROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before_
Expires On	Pack Code X	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT O	COULD BE EXPIR	RED UPON DELIV	ERY:
EXAMPLE OF MFG'S. EXPIRATION DATE CO	DDE : 05910443		
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE:		
DOES MANUFACTURER PRACTICE HACCP Delivery <u>10</u> calendar days after receipt of order			

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
54.	STUFFING MIX, INSTANT WHOLE GRAIN	287,280	Each	\$0.30	\$86,184.00
		684	Cases	\$83.97	\$57,435.48

- Whole grain stuffing that states the scoop/disher size that provides 1oz. grain equivalent in accordance with the Child Nutrition Program.
- Dry mix to be mixed with water and margarine for ease in preparation.
- A portion is defined as 1/3 cup (22.6g) dry stuffing to provide 1.0 oz. grain equivalent.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other food label dates noting expiration must be on each package or box.

STANDARD: Foothill Farms 3t530-C1190, or equal. PACK: 12/28oz. bags per case.

PACK IF DIFFERENT:	_BRAND IF DIF	FERENT	
NUMBER OF CASES PER PALLET: 40			
NUMBER OF PALLETS PER TRUCKLOAD:	30		
MINIMUM ORDER QUANTITY STATED BY TH	HE CASE: 40)	
PRODUCT SHELF LIFEDays			
PRODUCT SHELF LIFE REFRIGERATED:	PRO	DUCT SHELF LIFE	E FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code X	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXP	IRED UPON DELI	VERY: 200 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CO	ode: B11177	R25	
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE: 11-Y	EAR, 177-JULI	AN DATE = 06/26/2021
DOES MANUFACTURER PRACTICE HACCP Delivery 10/2 calendar days after receipt of order	?Yes No		

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
55.	CANOLA OIL	46,080	Portions	\$0.04	\$1,843.20
		45	Cases	\$44.16	\$1,987.20

- Canola oil, clear to a light amber color, free from sediment, bland flavor and color.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other food label dates noting expiration must be on each package or box.

STANDARD: Crisco Pure Canola #16948, or equal. PACK: 4/1 gallon per case (256/1Tbsp servings per gallon).

PACK IF DIFFERENT:	_BRAND IF DIF	FERENT:	
NUMBER OF CASES PER PALLET: 36			
NUMBER OF PALLETS PER TRUCKLOAD: 2	22		
MINIMUM ORDER QUANTITY STATED BY TI	HE CASE: 36		
PRODUCT SHELF LIFE Days			
PRODUCT SHELF LIFE REFRIGERATED:	PROI	DUCT SHELF LIFE	FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On \underline{X} P	Pack Code	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXP		VERY: 300 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE:JUNE 05	5, 2021	
EXPLANATION OF MFG'S EXPIRATION DAT	'e code: JUN	IE 05, 2021	
DOES MANUFACTURER PRACTICE HACCP Delivery ¹⁰ _calendar days after receipt of order.			

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
56.	TEA, DECAFFEINATED	75	Box	\$8.42	\$631.50
		15	Cases	\$42.11	\$631.65

- Orange pekoe and pekoe cut black tea, decaffeinated in individual portion teabags.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other food label dates noting expiration must be on each package or box.

STANDARD: Nestle Heritage Tea Bags 344100, or equal. **PACK:** 5/100ct. per case.

PACK IF DIFFERENT:	BRAND IF DIFF	ERENT:	
NUMBER OF CASES PER PALLET:84			
NUMBER OF PALLETS PER TRUCKLOAD:2	6		
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: <mark>10</mark>		
PRODUCT SHELF LIFE Days			
PRODUCT SHELF LIFE REFRIGERATED:	PRODL	JCT SHELF LIFE	FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code X	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT (COULD BE EXPIR	ED UPON DELIV	ERY: 360 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE : 11137T16	41A	
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE:11-YEA	AR, 137-JULIAI	N DATE = 05/16/2021
DOES MANUFACTURER PRACTICE HACCP Delivery ¹⁰ / calendar days after receipt of order.	Yes No		

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
57.	LEMON JUICE, 4/1 GALLON	60	Gallon	\$11.82	\$709.20
		15	Cases	\$47.27	\$709.05

- 100% lemon juice from concentrate in 1 gallon container.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other food label dates noting expiration must be on each package or box.

STANDARD: Real Lemon #Z58230. **PACK:** 4/1 gallons per case.

BRAND IF DIFFERENT:					
4					
e case: 48					
PRODUCT SHELF LIFE	E FROZEN:				
Use By <mark>X</mark> Sell By	Best Before				
Pack Code Born On	Guaranteed Fresh				
OULD BE EXPIRED UPON DEL	IVERY: 250 DAYS				
DE:USE BY 07-03-21					
EXPLANATION OF MFG'S EXPIRATION DATE CODE: JULY 03, 2021					
Yes No					
	E CASE: 48 PRODUCT SHELF LIFE Use ByX Sell By vack Code Born On DULD BE EXPIRED UPON DEL DE: USE BY 07-03-21 E CODE: JULY 03, 2021				

Item Description	Qty	UOM	Price per UOM	Extension
CRAISINS, BULK	250	Pound	\$3.02	\$755.00
	10	Cases	\$75.42	\$754.20
		CRAISINS, BULK 250	CRAISINS, BULK 250 Pound	CRAISINS, BULK250Pound\$3.02

- Sweetened dried cranberries.
- Craisins must be produced in a peanut free facility.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Ocean Spray Craisins #94514, or equal. **PACK**: 25lb. per case.

PACK IF DIFFERENT:	BRAND IF DIFFERENT:					
NUMBER OF CASES PER PALLET: 64						
NUMBER OF PALLETS PER TRUCKLOAD: 21						
MINIMUM ORDER QUANTITY STATED BY TH	HE CASE: 64					
PRODUCT SHELF LIFE 365 Days						
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF LIFE FROZEN:					
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before					
Expires On	Pack Code Born On Guaranteed Fresh					
MAXIMUM AMOUNT OF SHELF LIFE THAT C	COULD BE EXPIRED UPON DELIVERY: 60 DAYS					
EXAMPLE OF MFG'S. EXPIRATION DATE CO	ODE:					
EXPLANATION OF MFG'S EXPIRATION DATE CODE:						
D OES MANUFACTURER PRACTICE HACCP Delivery10calendar days after receipt of order.	P? Yes No					

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
61.	MAYONNAISE, LITE-GALLON	400	Gallons	\$12.53	\$5,012.00
		100	Cases	\$50.12	\$5,012.00

- Mayonnaise dressing made with corn oil or soybean oil, egg yolk and vinegar in a plastic gallon container.
- Product should have no more than 5 grams of fat and 110mg sodium per one tablespoon serving.
- Dressing to have half the fat and calories of regular mayonnaise and not be fat free.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Dukes #06073, or equal. PACK: 4/1 gallons per case.

PACK IF DIFFERENT:	BRAND IF DIF	FERENT:	
NUMBER OF CASES PER PALLET: 48			
NUMBER OF PALLETS PER TRUCKLOAD: 2	4		
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: <mark>48</mark>		
PRODUCT SHELF LIFE ¹²⁰ Days			
PRODUCT SHELF LIFE REFRIGERATED:	PROD	UCT SHELF LIFE	FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code <u>X</u>	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXPI	RED UPON DELIV	ERY: 50 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: 21001M		
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE: 21-YE	EAR, 001-JULIAN E	DATE, M-PLANT=01/01/2021
DOES MANUFACTURER PRACTICE HACCP Delivery ¹⁰ _calendar days after receipt of order.	?Yes No		

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
62.	MARINARA SAUCE	108,000	Each (Can)	\$5.72	\$617,760.00
		3,000	Cases	\$34.34	\$103,020.00

- Marinara sauce to be made with tomatoes, olive oil, and a blend of spices.
- Approximately ¹/₄ cup marinara sauce equals ¹/₄ cup red/orange vegetable in accordance with the USDA Child Nutrition Program.
- Packed fresh in season.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package.

STANDARD: Furmano #F11114, or equal. **PACK:** 6/#10 cans per case (285.3 servings per case).

PACK IF DIFFERENT:	_BRAND IF DIF	FERENT	
NUMBER OF CASES PER PALLET: 56			
NUMBER OF PALLETS PER TRUCKLOAD: 2	4		
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: <mark>56</mark>		
PRODUCT SHELF LIFE ⁹⁰⁰ Days			
PRODUCT SHELF LIFE REFRIGERATED:	PRO	DUCT SHELF LIFE	FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code <u>X</u>	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT C	COULD BE EXP	IRED UPON DELI	VERY: 400 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: C11269		
EXPLANATION OF MFG'S EXPIRATION DAT	e code: 11-yi	EAR, 269-JULIAN	DATE = 9/26/2021
DOES MANUFACTURER PRACTICE HACCP	?Yes No		
Delivery 10 calendar days after receipt of order.			

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
63.	MAYONNAISE DRESSING REDUCED CALORIE 12 GRAM	900,000	Each	\$0.10	\$90,000.00
	PACKETS, SHELF STABLE	4,500	Cases	\$20.38	\$91,710.00

- Mayonnaise dressing made with soybean oil, egg yolk, and vinegar.
- The package must have a tear slit for ease of opening.
- Each 12 gram packet should have no more than 4 grams of fat. No more than 80mg sodium.
- Required product information is to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box

STANDARD: C. F. Sauer #06346, or equal. PACK: 12 gram packet, 200 per case.

PACK IF DIFFERENT:	_BRAND IF DIF	FERENT	
NUMBER OF CASES PER PALLET: 168			
NUMBER OF PALLETS PER TRUCKLOAD:2	-		
MINIMUM ORDER QUANTITY STATED BY TH	HE CASE 10		
PRODUCT SHELF LIFE ¹⁸⁰ Days			
PRODUCT SHELF LIFE REFRIGERATED:	PROI	DUCT SHELF LIFE	FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code <u>X</u>	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXP	IRED UPON DELI	/ERY: 75 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CO	ode: 21001N	I	
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE: 21-Y	EAR, 001-JULIA	AN DATE =01/01/2021
DOES MANUFACTURER PRACTICE HACCP Delivery ¹⁰ calendar days after receipt of order.	?Yes No		

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
64.	VEGETARIAN PATTY, BLACK BEAN BURGER	9,600	Each	\$0.91	\$8,736.00
		200	Cases	\$43.52	\$8,704.00

- Vegetarian patty made from black beans, textured soy protein concentrate, cooked brown rice, onions, and whole kernel corn.
- Each patty must provide 2oz. meat/meat alternate in accordance with the Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement, with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Kellogg's Morningstar Farms #49938, or equal. **PACK:** 48/2.9oz. per case.

PACK IF DIFFERENT: BRAND IF DIFFERENT:					
NUMBER OF CASES PER PALLET: 180					
NUMBER OF PALLETS PER TRUCKLOAD:2	0				
MINIMUM ORDER QUANTITY STATED BY THE CASE: 10					
PRODUCT SHELF LIFEDays 548					
PRODUCT SHELF LIFE REFRIGERATED:PRODUCT SHELF LIFE FROZEN:					
PACKAGE SHELF LIFE CODE:(check one)					
Expires On	Pack Code X	Born On	Guaranteed Fresh		
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXPI	RED UPON DELIV	ERY: 250 DAYS		
EXAMPLE OF MFG'S. EXPIRATION DATE C	ode: FM051	011C375			
EXPLANATION OF MFG'S EXPIRATION DATE CODE: 05-MONTH, 10-DAY, 11-YEAR= 05/10/21					
DOES MANUFACTURER PRACTICE HACCP? Yes No Delivery <u>10</u> calendar days after receipt of order.					

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
65.	VEGETARIAN BEANS IN BROWN SUGAR SAUCE	270,000	Portions (1/2 cup)	\$0.21	\$56,700.00
		1,800	Cases	\$32.56	\$58,608.00

- Prepared beans in brown sauce, approximately 25 (1/2 cup) servings per case and each serving provides one (1) meat/meat alternate and/or ½ cup vegetable (legume) in accordance with the Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Hanover #14183, or equal. **PACK:** 6/#10 cans per case.

PACK IF DIFFERENT: BRAND IF DIFFERENT:					
NUMBER OF CASES PER PALLET: 56					
NUMBER OF PALLETS PER TRUCKLOAD: 17	NUMBER OF PALLETS PER TRUCKLOAD: 17				
MINIMUM ORDER QUANTITY STATED BY THE CASE: 56					
PRODUCT SHELF LIFE Days 720					
PRODUCT SHELF LIFE REFRIGERATED:	PROI	DUCT SHELF LIFE	FROZEN:		
PACKAGE SHELF LIFE CODE:(check one) U	Jse By	Sell By	Best Before		
Expires On Pa	ack Code	Born On	Guaranteed Fresh		
MAXIMUM AMOUNT OF SHELF LIFE THAT CO	OULD BE EXP	IRED UPON DELI	VERY: 60 DAYS		
EXAMPLE OF MFG'S. EXPIRATION DATE COL	DE:				
EXPLANATION OF MFG'S EXPIRATION DATE	CODE:				
DOES MANUFACTURER PRACTICE HACCP ? Delivery ^{1_0} calendar days after receipt of order.	Yes No				

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
66.	BABY RICE CEREAL	120	Each	\$0.19	\$22.80
		20	Cases	\$34.51	\$690.20

- Baby rice cereal.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Gerber #15000 07050, or equal. **PACK:** 6/16oz.

PACK IF DIFFERENT:	_BRAND IF DIF	FERENT:	
NUMBER OF CASES PER PALLET: 80			
NUMBER OF PALLETS PER TRUCKLOAD: 2	24		
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: <mark>80</mark>		
PRODUCT SHELF LIFE Days 456			
PRODUCT SHELF LIFE REFRIGERATED:	PROI	DUCT SHELF LIFE	FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT (OULD BE EXP	IRED UPON DELI	VERY: 60 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE:		
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE:		
DOES MANUFACTURER PRACTICE HACCP Delivery 10/2 calendar days after receipt of order	?Yes No		

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
67.	TORTILLA CHIPS, IW	120,000	Each	\$0.35	\$42,000.00
		2,000	Cases	\$20.71	\$41,420.00

- 1.6oz. package provides 2oz. grain equivalent in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other food label dates noting expiration must be on each package or case.

STANDARD: Snak King #FG261193, or equal. **PACK:** 60/1.6oz. bags per case.

PACK IF DIFFERENT:	_BRAND IF DI	FFERENT:			
NUMBER OF CASES PER PALLET: 54					
NUMBER OF PALLETS PER TRUCKLOAD:	24				
MINIMUM ORDER QUANTITY STATED BY THE CASE: 270					
PRODUCT SHELF LIFEDays 180					
PRODUCT SHELF LIFE REFRIGERATED:PRODUCT SHELF LIFE FROZEN:					
PACKAGE SHELF LIFE CODE:(check one)	Use By <mark>X_</mark> -	Sell By	Best Before		
Expires On	Pack Code	Born On	Guaranteed Fresh		
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXF	PIRED UPON DEL	IVERY: 80 DAYS		
EXAMPLE OF MFG'S. EXPIRATION DATE C	EXAMPLE OF MFG'S. EXPIRATION DATE CODE: NOV 20 2022				
EXPLANATION OF MFG'S EXPIRATION DATE CODE: ENDED DATE					
DOES MANUFACTURER PRACTICE HACCP Delivery <u>10</u> calendar days after receipt of order					

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
68.	COFFEE, DECAFFEINATED	48,000	Portions	\$0.77	\$36,960.00
		50	Cases	\$98.81	\$4,940.50

- Decaffeinated Coffee.
- Each 1.25oz. pouch will make a ½ gallon of brewed coffee or 960/8oz. servings per case.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Maxwell House #39044, or equal. PACK: 128/1.25oz.pouches (960 servings per case).

PACK IF DIFFERENT:BRAND IF DIFFERENT:			
NUMBER OF CASES PER PALLET: 40			
NUMBER OF PALLETS PER TRUCKLOAD: 2	24		
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 40		
PRODUCT SHELF LIFEDays 210			
PRODUCT SHELF LIFE REFRIGERATED:	PROD	UCT SHELF LIFE	FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT C	COULD BE EXPI	RED UPON DELIN	VERY: 60 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE:		
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE:		
DOES MANUFACTURER PRACTICE HACCP Delivery <u>10</u> calendar days after receipt of order	?Yes No		

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
72.	RANCH DRESSING CREAMY REFRIGERATED	512,000	Portions	\$0.13	\$66,560.00
		2,000	Cases	\$33.72	\$67,440.00

- Ranch Dressing, Clean Label. One serving is defined as 2 Tbsp.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Marzetti #84898, or equal. PACK: 2/1 gallon.

PACK IF DIFFERENT: BRAND IF DIFFERENT:				
NUMBER OF CASES PER PALLET: 96				
NUMBER OF PALLETS PER TRUCKLOAD:	24			
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 10			
PRODUCT SHELF LIFE _Days 120				
PRODUCT SHELF LIFE REFRIGERATED: 12	²⁰ product s	HELF LIFE FROZ	EN:	
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before	
Expires On	Pack Code	Born On	Guaranteed Fresh	
MAXIMUM AMOUNT OF SHELF LIFE THAT	COULD BE EX	PIRED UPON DEI	LIVERY: 60 DAYS	
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE:			
EXPLANATION OF MFG'S EXPIRATION DAT	TE CODE:			
DOES MANUFACTURER PRACTICE HACCF Delivery <u>10</u> calendar days after receipt of order.				

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
73.	WHOLE KERNEL CORN, FROZEN	1,254,500	Portions (1/2 Cup)	\$0.26	\$326,170.00
		6,500	Cases	\$25.53	\$165,945.00

- U.S. Grade A.
- Sweet and tender. Yellow color.
- Adhere to a similar pack that is stated below for ease in redistribution.
- A portion is defined as ½ cup and provides ½ cup vegetable (starch) in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: F.A.B, Restaurant's Pride or equal. PACK: 12/2.5lb per case required.

PACK IF DIFFERENT: 20LB BRAND IF DIFFERENT: SIMPLOT, #10071179034339								
NUMBER OF CASES PER PALLET: 120								
NUMBER OF PALLETS PER TRUCKLOAD: 15								
	MINIMUM ORDER QUANTITY STATED BY THE CASE: 10							
PRODUCT SHELF LIFE 730 Days								
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF LIFE FROZEN: 730 DAYS							
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before							
Expires On	Pack Code X Born On Guaranteed Fresh							
MAXIMUM AMOUNT OF SHELF LIFE THAT (COULD BE EXPIRED UPON DELIVERY:							
EXAMPLE OF MFG'S. EXPIRATION DATE C	CODE: DEC072101G							
EXPLANATION OF MFG'S EXPIRATION DATE CODE: DECEMBER 07, 2021								
DOES MANUFACTURER PRACTICE HACCP Delivery ¹⁰ / calendar days after receipt of order								

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
74.	SUB ROLL WHOLE GRAIN, SLICED CRUSTY	115,200	Portions	\$0.36	\$41,472.00
		1,200	Cases	\$34.32	\$41,184.00

- Frozen, 5.5 inch sub roll, bread should be soft in the center and slightly hard and crusty on the outside.
- Each roll is to be made with good quality whole wheat flour, hinge sliced.
- Sub roll must weigh a minimum of 2oz and provide 2 oz. grain equivalent in accordance with the Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other food label dates noting expiration must be on each package or box.

STANDARD: Bake Crafters #4062 or equal. PACK: 96/2oz sub rolls per case.

PACK IF DIFFERENT:	BRAND IF DIF	FERENT:				
NUMBER OF CASES PER PALLET: 50						
NUMBER OF PALLETS PER TRUCKLOAD: 28						
MINIMUM ORDER QUANTITY STATED BY TH	HE CASE: 50					
PRODUCT SHELF LIFE ³⁶⁵ Days						
PRODUCT SHELF LIFE REFRIGERATED:	PROD	OUCT SHELF LIFE	FROZEN:365/5DAYS			
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before			
Expires On	Pack Code	Born On	Guaranteed Fresh			
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXPI	RED UPON DELI	VERY: 200 DAYS			
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: 21001M						
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE: 21-Y	EAR, 001-JULI	AN DATE =01/01/2021			
DOES MANUFACTURER PRACTICE HACCP Delivery $\frac{10}{2}$ calendar days after receipt of order.	?Yes No					

ltem No.	Item Description	Qty	UOM	Price per UOM	Extension
75.	SAUSAGE, BREAKFAST TURKEY	820,800	Each (Patty)	\$0.39	\$320,112.00
		7,600	Cases	\$41.21	\$313,196.00
 DESCRIPTION: Precooked turkey sausage, round patty without soy and cereal added. One patty should have no more than 5 					

- grams of fat and 300 mg sodium.
 A portion is defined as one (1) sausage patty and provides one (1) meat/meat alternate in accordance with the Child Nutrition Program
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Farmland, Ember Farms #71105 or equal. PACK: 108/1.47 oz. patties per case.

PACK IF DIFFERENT:	_BRAND IF DIF	FERENT					
NUMBER OF CASES PER PALLET: 144	NUMBER OF CASES PER PALLET: 144						
NUMBER OF PALLETS PER TRUCKLOAD:24	4						
MINIMUM ORDER QUANTITY STATED BY TH	HE CASE: 10						
PRODUCT SHELF LIFE _Days							
PRODUCT SHELF LIFE REFRIGERATED:	PRO	DUCT SHELF LIFE	FROZEN:				
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before				
Expires On	Pack Code X	Born On	Guaranteed Fresh				
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXP	PIRED UPON DELI	VERY: 120 DAYS				
EXAMPLE OF MFG'S. EXPIRATION DATE CO	EXAMPLE OF MFG'S. EXPIRATION DATE CODE: JD3621						
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE: 361-	JULIAN DATE,	7-YEAR-12/27/21				
DOES MANUFACTURER PRACTICE HACCP Delivery <u>10</u> calendar days after receipt of order.							

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
76.	HOT DOG, TURKEY	160,000	Portions	\$0.41	\$65,600.00
		2,000	Cases	\$16.43	\$32,860.00

- Hot dogs made with finely ground cured turkey, shall be 5" to 6" long, gluten free. Eight hot dogs per pound.
- Sodium level not to exceed 300 mg per portion and fat should not exceed 11 grams per portion.
- Parts per million nitrite level should be stated.
- Each portion to yield 2 ounces cooked meat/meat alternate for child nutrition program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Kunzler's #1079, or equal. PACK: 80/2oz. per case.							
PACK IF DIFFERENT: BRAND IF DIFFERENT:							
NUMBER OF CASES PER PALLET: 144							
NUMBER OF PALLETS PER TRUCKLOAD: 20							
MINIMUM ORDER QUANTITY STATED BY THE CASE: 10							
PRODUCT SHELF LIFEDays							
PRODUCT SHELF LIFE REFRIGERATED:PRODUCT SHELF LIFE FROZEN:							
PACKAGE SHELF LIFE CODE:(check one) Use By Sell By Best Before							
Expires On Pack Code Born On X Guaranteed Fresh							
MAXIMUM AMOUNT OF SHELF LIFE THAT COULD BE EXPIRED UPON DELIVERY: 150 DAYS							
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: 07/07/21							
EXPLANATION OF MFG'S EXPIRATION DATE CODE: JULY 07, 2021							
DOES MANUFACTURER PRACTICE HACCP? Yes No Delivery ¹⁰ / calendar days after receipt of order.							

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
77.	DELI TURKEY MEAT-TURKEY HAM	172,800	Portions	\$0.86	\$148,608.00
		1,800	Cases	\$53.29	\$95,922.00

• Fully cooked smoked turkey ham from turkey thigh meat, gluten free.

STANDARD: Jennie-O 2565 or equal. PACK: 12/1lb per case.

- Each slice should weigh 0.5 oz. and 3 slices provides one (1) meat/meat alternate in accordance with the Child Nutrition Program.
- Required product information to include nutritional analyzed on actual portion size, ingredient statement with allergens listed and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

PACK IF DIFFERENT:	_BRAND IF DIFFERENT:				
NUMBER OF CASES PER PALLET: 132					
NUMBER OF PALLETS PER TRUCKLOAD:2	20				
MINIMUM ORDER QUANTITY STATED BY TH	HE CASE: 10				
PRODUCT SHELF LIFE Days					
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF LIFE FROZEN:				
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before				
Expires On	Pack Code X Born On Guaranteed Fresh				
MAXIMUM AMOUNT OF SHELF LIFE THAT C	COULD BE EXPIRED UPON DELIVERY: 150 DAYS				
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: 30221					
EXPLANATION OF MFG'S EXPIRATION DAT	FE CODE : 302-JULIAN DATE, 21-YEAR- 10/29/2021				
DOES MANUFACTURER PRACTICE HACCP Delivery $\frac{10}{2}$ calendar days after receipt of order.					

ltem No.	Item Description	Qty	UOM		Extension
78.	DELI, TURKEY BREAST, OVEN ROASTER .050Z.	172,800	Portions	\$0.78	\$134,784.00
		1,800	Cases	\$49.60	\$89,280.00
DESCRIPTION:					

- Each slice should weigh 0.5 oz. and 3 slices provides one (1) meat/meat alternate in accordance with the Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Jennie-0 #209903, or equal. PACK: 12/1Ib. per case.

PACK IF DIFFERENT:	_BRAND IF DI	FFERENT:						
NUMBER OF CASES PER PALLET: 132								
NUMBER OF PALLETS PER TRUCKLOAD: 2	NUMBER OF PALLETS PER TRUCKLOAD: 24							
MINIMUM ORDER QUANTITY STATED BY T	HE CASE:10							
MINIMUM ORDER QUANTITY STATED BY TI 365 PRODUCT SHELF LIFEDays								
PRODUCT SHELF LIFE REFRIGERATED:	PRO	DUCT SHELF LIF	E FROZEN:					
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before					
Expires On	Pack Code X	Born On	Guaranteed Fresh					
MAXIMUM AMOUNT OF SHELF LIFE THAT C	COULD BE EXI	PIRED UPON DEL	LIVERY: 150 DAYS					
EXAMPLE OF MFG'S. EXPIRATION DATE C	EXAMPLE OF MFG'S. EXPIRATION DATE CODE: 30221							
EXPLANATION OF MFG'S EXPIRATION DAT	'E CODE: 302-	JULIAN DATE	, 21-YEAR- 10/29/2021					
DOES MANUFACTURER PRACTICE HACCP Delivery ¹⁰ calendar days after receipt of order.	?Yes No							

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
80.	CHICKEN, GENERAL TSO'S	220,000	Portions	\$1.26	\$277,200.00
		2,500	Cases	\$222.07	\$555,175.00

- Frozen fully cooked whole grain breaded diced chicken leg meat with a General Tso's flavored sauce. Chicken and sauce can be separate in case.
- Each portion should weigh about 3.9 oz. and contribute 2oz. meat/meat alternate and 0.5 oz. grain equivalents.
- CN label is preferred or letter from manufacturer stating meal contribution in accordance with the child nutrition program. Letter of domestic certification is required on this product.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed and preferably both combi and convection oven cooking instructions.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Asian Food Solutions #72003, or equal. **PACK:** 6/5lb bags of chicken & 6/2.15lbs of sauce.

	BRAND IF DIFFERENT:				
NUMBER OF CASES PER PALLET:48					
NUMBER OF PALLETS PER TRUCKLOAD: 20					
MINIMUM ORDER QUANTITY STATED BY T	THE CASE: 48				
PRODUCT SHELF LIFEDays					
PRODUCT SHELF LIFE REFRIGERATED:					
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before	_			
Expires On X Pa	Pack Code Born On Guaranteed Fresh				
MAXIMUM AMOUNT OF SHELF LIFE THAT C	COULD BE EXPIRED UPON DELIVERY: 200 DAYS	3			
EXAMPLE OF MFG'S. EXPIRATION DATE C	CODE: EXP 10-11-21				
EXPLANATION OF MFG'S EXPIRATION DAT	TE CODE: OCTOBER 11, 2021				
DOES MANUFACTURER PRACTICE HACCP Delivery ¹ calendar days after receipt of order.					

Item No.	Item Description	Qty	UOM		Extension
81.	PANCAKE AND SAUSAGE ON A STICK	140,000	Portions (1 stick)	\$0.50	\$70,000.00
		2,500	Cases	\$28.02	\$70,050.00

- Frozen, precooked turkey sausage link wrapped in a whole grain pancake on a stick. Product is to contain no more than 6 grams of fat per stick.
- Sausage must provide 1oz.meat/meat alternate and pancake provides1oz. grain in accordance with the latest USDA standards.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Foster Farms #95121 or equal. PACK: 56/2.85 ounces per case

PACK IF DIFFERENT:	_BRAND IF DI	FERENT				
NUMBER OF CASES PER PALLET: 108						
NUMBER OF PALLETS PER TRUCKLOAD:	22					
MINIMUM ORDER QUANTITY STATED BY THE CASE: 10						
PRODUCT SHELF LIFEDays						
PRODUCT SHELF LIFE REFRIGERATED: _	PRO	DUCT SHELF L	IFE FROZEN:			
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before			
Expires On	Pack Code 🗙	Born On	Guaranteed Fresh			
MAXIMUM AMOUNT OF SHELF LIFE THAT	COULD BE EXF	PIRED UPON DE	LIVERY: 265 DAYS			
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: P119 1	1 133 09:16				
EXPLANATION OF MFG'S EXPIRATION DA	TE CODE:P119	-PLANT, 11-\	EAR, 133-JULIAN DAT	E= 06/13/21		
DOES MANUFACTURER PRACTICE HACCE Delivery <u>10</u> calendar days after receipt of order						

Item No.	Item Description	Qty	UOM		Extension
82.	PANCAKES, MINI FROZEN	1,980,000	Portions	\$0.42	\$831,600.00
		27,500	Cases	\$30.32	\$833,800.00

- Whole wheat flour mini pancakes, eight count, individual ovenable wrap.
- A 3.03 oz portion must provide 2oz. grain equivalents in accordance with the Child Nutrition Program.
- Flavor desire is maple. Shelf life frozen and refrigerated must be stated.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Kellogg's Maple Eggo pancakes #92562, or equal. PACK: 72/3.03oz packages per case

PACK IF DIFFERENT:	BRAND IF DIFF	ERENT:			
NUMBER OF CASES PER PALLET: 48					
NUMBER OF PALLETS PER TRUCKLOAD: 24					
MINIMUM ORDER QUANTITY STATED BY THE CASE: 48					
PRODUCT SHELF LIFE ³⁶⁵ Days					
PRODUCT SHELF LIFE REFRIGERATED:	PRODL	JCT SHELF LIFE F	ROZEN:		
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before		
Expires On	Pack Code <u>X</u>	Born On	Guaranteed Fresh		
MAXIMUM AMOUNT OF SHELF LIFE THAT C	COULD BE EXPIR	ED UPON DELIVI	ERY: 150 DAYS		
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: 051011				
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE: 05-MC	ONTH, 10-DAY,	11-YEAR= 05/10/21		
DOES MANUFACTURER PRACTICE HACCP Delivery $\frac{10}{10}$ calendar days after receipt of order	? Yes No				

Item Description	Qty	UOM		Extension
IDARIN ORANGE CHICKEN	1,811,499	Portions (chicken & sauce)	\$1.00	\$1,811,499.00
	5,500	Cases	\$192.32	\$1,057,760.00
1	DARIN ORANGE CHICKEN		(chicken & sauce)	(chicken \$1.00 & sauce)

- Fully cooked breaded diced chicken leg meat. Zesty mandarin orange sauce separate in case.
- One 3.6oz serving provides two (2) meat/meat alternate equivalents in accordance with the Child Nutrition Program.
- Portion is defined as scoop/disher size needed to equal 2 ounces of meat.
- Required product information to include nutritional analyzed on actual portion size, ingredient statement with allergens listed and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Ling's Mandarin Orange Chicken Jr. 155555-5, or equal. PACK: 6/5lb bags per case

PACK IF DIFFERENT:	BRAND IF DIFFER	ENT:			
NUMBER OF CASES PER PALLET: 35					
NUMBER OF PALLETS PER TRUCKLOAD: 24					
MINIMUM ORDER QUANTITY STATED I	BY THE CASE: 35				
PRODUCT SHELF LIFE ³⁶⁵ Days					
PRODUCT SHELF LIFE REFRIGERATE	D:PRO	DUCT SHELF LIF	E FROZEN:		
PACKAGE SHELF LIFE CODE:(check or	ne) Use By	Sell By	Best Before		
Expires On	Pack Code X	Born On	Guaranteed Fresh		
MAXIMUM AMOUNT OF SHELF LIFE TH	IAT COULD BE EXI	PIRED UPON DEL	IVERY:150 DAYS		
EXAMPLE OF MFG'S. EXPIRATION DA	TE CODE: 011121	12:30			
EXPLANATION OF MFG'S EXPIRATION	DATE CODE: 01-	MONTH, 11-DA	Y. 21-YEAR= 01/11/21		
DOES MANUFACTURER PRACTICE HA Delivery ¹⁰ / _c alendar days after receipt of or					

Item No.	Item Description	Qty	UOM		Extension
84.	KETCHUP, INDIVIDUAL PACKETS, LOW SODIUM 9	20,000,000	Each	\$0.02	\$400,000.00
	GRAM	20,000	Cases	\$23.26	\$465,200.00

- Fancy Grade A ketchup, low sodium with no more than 25mg sodium per packet.
- Package must have a tear slit for ease of opening.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Heinz #56500, or equal. PACK: 9 grams per packet, 1000 packets per case.

PACK IF DIFFERENT:	_BRAND IF DIFF	ERENT:			
NUMBER OF CASES PER PALLET: 84					
NUMBER OF PALLETS PER TRUCKLOAD: 2	20				
MINIMUM ORDER QUANTITY STATED BY THE CASE: 84					
PRODUCT SHELF LIFE ²⁷⁰ Days					
PRODUCT SHELF LIFE REFRIGERATED:	PRODI	JCT SHELF LIFE	FROZEN:		
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before		
Expires On	Pack Code	Born On <mark>X</mark>	Guaranteed Fresh		
MAXIMUM AMOUNT OF SHELF LIFE THAT (COULD BE EXPIR	RED UPON DELIV	ERY: 100 DAYS		
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: 03-09-22				
EXPLANATION OF MFG'S EXPIRATION DAT		H 09, 2022			
DOES MANUFACTURER PRACTICE HACCP Delivery <u>10</u> calendar days after receipt of order					

Item No.	Item Description	Qty	UOM		Extension
85.	GRILLED CHICKEN BREAST, DICED	250,651 4,700	Portions Cases	\$1.06 \$56.10	\$265,690.06 \$263,670.00

- Fully cooked, grilled chicken breast with rib meat.
- Uncooked or pink product is not acceptable. Portion is defined as one serving equals 2oz meat/meat alternate
- Each 3oz.portion to yield a minimum of 2 ounces cooked meat/meat alternate for the child nutrition program.
- Required product information to include nutritional analyzed on actual portion size, ingredient statement with allergens listed and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.

STANDARD: Tyson #38356-928, or equal. PACK: 2/5lb bags per case					
PACK IF DIFFERENT:		_BRAND IF DIFF	ERENT:		
NUMBER OF CASES PER F	PALLET: 120				
NUMBER OF PALLETS PER TRUCKLOAD: 26					
MINIMUM ORDER QUANTITY STATED BY THE CASE: 10					
PRODUCT SHELF LIFE ³⁶⁵ Days					
PRODUCT SHELF LIFE REFRIGERATED:PRODUCT SHELF LIFE FROZEN:					
PACKAGE SHELF LIFE CO	DE:(check one)	Use By	Sell By	Best Before	
	Expires On	Pack Code X	Born On	Guaranteed Fresh	
MAXIMUM AMOUNT OF SH	IELF LIFE THAT	COULD BE EXPI	RED UPON DE	LIVERY: 180 DAYS	
EXAMPLE OF MFG'S. EXPIRATION DATE CODE:015 8 FRS 3 11					
EXPLANATION OF MFG'S EXPIRATION DATE CODE: 015-JULIAN DATE, 11-YEAR = 01/15/21					
DOES MANUFACTURER PRACTICE HACCP? Yes No Delivery 10 calendar days after receipt of order.					

ltem No.	Item Description	Qty	UOM		Extension
86.	GORDITA, WHOLE GRAIN (FLATBREAD/LOCO BREAD)	504,000 3,500	Portions Cases	\$0.25 \$35.86	\$126,000.00 \$125,510.00
 DESCRIPTION: 6 ½" round flat bread, 1.8 oz. portion weight, made with whole grain wheat flour. 					

• Each portion should have grill marks on bottom with bubbled browning spots on top.

- A portion is defined as one (1) piece that provides 2oz. grain equivalents in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

. . .

..

STANDARD : Angelinas #01188, or equal. PACK: 12 dozen or 144 portion count per case
PACK IF DIFFERENT: BRAND IF DIFFERENT:
NUMBER OF CASES PER PALLET: 63
NUMBER OF PALLETS PER TRUCKLOAD: 20
MINIMUM ORDER QUANTITY STATED BY THE CASE: 63
PRODUCT SHELF LIFE Days
PRODUCT SHELF LIFE REFRIGERATED:PRODUCT SHELF LIFE FROZEN:
PACKAGE SHELF LIFE CODE:(check one) Use By X Sell By Best Before
Expires On Pack Code Born On Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT COULD BE EXPIRED UPON DELIVERY: 150 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: USE BY 07-03-21
EXPLANATION OF MFG'S EXPIRATION DATE CODE: JULY 03, 2021
DOES MANUFACTURER PRACTICE HACCP? Yes No Delivery Calendar days after receipt of order.
Item Description

BREAD, TEXAS TOAST, GARLIC

- Prebaked, frozen garlic toast, whole grain, with low fat spread with minimum weight per portion of 1.3 ounces, made with a minimum of 50% whole grain wheat to provide 1oz. grain equivalent.
- Garlic spread to be low fat and made with sweet cream butter milk and garlic.
- No more than 3 grams fat and .5 grams saturated fat. Portion is defined as one slice garlic toast equals 1 serving grain.
- Required product information to include nutritional analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Joseph Campione #35509, or equal. PACK: 120/1.3oz per case

PACK IF DIFFERENT:	125/1.2OZ	BRAND IF	DIFFERENT		
NUMBER OF CASES P	•••				
NUMBER OF PALLETS	PER TRUCKLOAD:	24			
MINIMUM ORDER QUA	NTITY STATED BY 1	HE CASE:	66		
PRODUCT SHELF LIFE	3 <mark>65</mark> Days			365 DAYS	
PRODUCT SHELF LIFE	REFRIGERATED:		T SHELF LIFE FRO	DZEN:	
PACKAGE SHELF LIFE	CODE:(check one)	Use By	_ Sell By	Best Before	
	Expires On _	Pack Code	Born On	Guaranteed Fresh	
MAXIMUM AMOUNT OF	SHELF LIFE THAT	COULD BE	EXPIRED UPON D	ELIVERY: 120 DAYS	
EXAMPLE OF MFG'S.	EXPIRATION DATE (CODE:			
EXPLANATION OF MFC	G'S EXPIRATION DA	TE CODE:			
DOES MANUFACTURE			0		

Item No.	Item Description	Qty	UOM		Extension
88.	BAGEL, WHOLE GRAIN, SLICED FROZEN IW	1,980,000	Portions	\$0.30	\$594,000.00
		27,500	Cases	\$21.83	\$600,325.00

- Individually wrapped, frozen, pre-sliced, plain, whole grain 2oz. bagel.
- Bagel must provide 2oz. grain equivalents in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Muffin Town #86695, or equal. PACK: 72 each per case
PACK IF DIFFERENT: BRAND IF DIFFERENT:
NUMBER OF CASES PER PALLET: 84
NUMBER OF PALLETS PER TRUCKLOAD: 26
MINIMUM ORDER QUANTITY STATED BY THE CASE: 84
PRODUCT SHELF LIFE 365 Days
PRODUCT SHELF LIFE REFRIGERATED:PRODUCT SHELF LIFE FROZEN:
PACKAGE SHELF LIFE CODE:(check one) Use By Sell By Best Before
Expires On Pack Code Born On X Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT COULD BE EXPIRED UPON DELIVERY: 150 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: 0514/2021 TO 05/14/2022
EXPLANATION OF MFG'S EXPIRATION DATE CODE: DATE OF MANUFACTURE TO DATE OF EXPIRATION
DOES MANUFACTURER PRACTICE HACCP? Yes No Delivery ¹⁰ _calendar days after receipt of order.

Item No.	Item Description	Qty	UOM	Extension
91.	COOKIE DOUGH, FROZEN, WHOLE GRAIN	720,000 3,000	Portions Cases	\$223,200.00 \$180,180.00

- Pre portioned frozen cookie dough made with at least 51% whole grain flour.
- Each cookie must weigh approximately 1.5oz. and provide 1oz. grain equivalents in accordance with the USDA Child Nutrition Program.
- Must be smart snack compliant.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- Flavors: Double Chocolate Chip, Vanilla Sugar.

STANDARD: Fat Cat Bakery Double Chocolate Chip #WGCCC192, Vanilla Sugar #WGVC192, or equal. **PACK: 192**/1.3oz. per case.

PACK IF DIFFERENT:	BRAND IF D	IFFERENT:	
NUMBER OF CASES PER PALLET: 108			
NUMBER OF PALLETS PER TRUCKLOAD:	22		
MINIMUM ORDER QUANTITY STATED BY T	THE CASE: 21	6	
PRODUCT SHELF LIFE ³⁶⁵ Days			
PRODUCT SHELF LIFE REFRIGERATED: _	5 DAYS PRO	DOUCT SHELF LIF	E FROZEN: 365 DAYS
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code	Born On <u>X</u>	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT	COULD BE EX	PIRED UPON DEL	IVERY: 300 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: MAD	E ON: 050122	2
EXPLANATION OF MFG'S EXPIRATION DA	TE CODE: MA	DE ON - 05 N	MAY 01 DAY 22 YEAR
DOES MANUFACTURER PRACTICE HACCH Delivery ¹⁰ _calendar days after receipt of order.			

Item No.	Item Description	Qty	UOM		Extension
92.	CHINESE NOODLES	29,160	Portions	\$0.27	\$7,873.20
		100	Cases	\$38.18	\$3,818.00

- Chow Mein noodles in 6 /#10 cans.
- A portion is defined as scoop/disher size needed to equal 1oz. grain equivalent in accordance with the USDA Child Nutrition Program
- Required product information to include nutritional analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: LaChoy #12620, or equal. PACK: 6/#10 cans per case (291.6 servings per case).

PACK IF DIFFERENT:	_BRAND IF DIF	FERENT:	
NUMBER OF CASES PER PALLET: 48			
NUMBER OF PALLETS PER TRUCKLOAD: 2	24		
MINIMUM ORDER QUANTITY STATED BY TH	HE CASE: 48		
PRODUCT SHELF LIFEDays			
PRODUCT SHELF LIFE REFRIGERATED:	PROD	UCT SHELF LIFE	FROZEN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code ^X	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXP	RED UPON DELIV	ERY: 150 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CO	ODE:1234110)200001	
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE:1234-	PLANT, 11-YEA	R, 002-JULIAN = 01/02/2021
DOES MANUFACTURER PRACTICE HACCP Delivery <u>10</u> calendar days after receipt of order.			

Item No.	Item Description	Qty	UOM		Extension
93.	CHILI BEANS, SEASONED	234,000	Portions	\$0.19	\$44,460.00
		1,500	Case	\$27.78	\$41,670.00

• U.S. Grade A., lower sodium product preferred. Chili beans to have good color, bright and typical and reasonably uniform. Beans to be slightly firm or slightly soft and have tender skin.

- Approximately 25 (1/2 cup) servings per case and each serving provides 1 meat/meat alternate and/or ½ cup vegetable (legume) in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD : Furmano's #11198 or equal. PACK: 6/#10 cans per case (156 servings per case).
PACK IF DIFFERENT:BRAND IF DIFFERENT:
NUMBER OF CASES PER PALLET: 56
NUMBER OF PALLETS PER TRUCKLOAD: 24
MINIMUM ORDER QUANTITY STATED BY THE CASE: <u>56</u>
PRODUCT SHELF LIFE 900 Days
PRODUCT SHELF LIFE REFRIGERATED:PRODUCT SHELF LIFE FROZEN:
PACKAGE SHELF LIFE CODE:(check one) Use By Sell By Best Before
Expires On Pack Code X Born On Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT COULD BE EXPIRED UPON DELIVERY: 400 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: C11269
EXPLANATION OF MFG'S EXPIRATION DATE CODE: 11-YEAR, 126-JULIAN DATE = 6/12/2021
DOES MANUFACTURER PRACTICE HACCP? Yes No Delivery <u>10</u> calendar days after receipt of order.

Item No.	Item Description	Qty	UOM		Extension
94.	CHICKEN STRIP SHAPED STRIPS PRECOOKED WITH	50,000	Portions	\$0.94	\$47,000.00
	TERIYAKI SAUCE	500	Cases	\$94.48	\$294,318.90

- Frozen, pre-seasoned, precooked flame broiled chicken, char marked strips, seasoned with teriyaki sauce, and soy added.
- Four (4) pieces must provide 2oz. meat/meat alternate in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional analyzed on actual portion size, ingredient statement with allergens listed and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Advance Pierre #2417 (Teriyaki), or equal. PACK: 400/.75oz per case

PACK IF DIFFERENT: BRAND IF DIFFERENT:
NUMBER OF CASES PER PALLET:42
NUMBER OF PALLETS PER TRUCKLOAD:24
MINIMUM ORDER QUANTITY STATED BY THE CASE: 42
PRODUCT SHELF LIFE ³⁶⁵ Days
PRODUCT SHELF LIFE REFRIGERATED:PRODUCT SHELF LIFE FROZEN: 365
PACKAGE SHELF LIFE CODE:(check one) Use By Sell By Best Before
Expires On Pack Code ^X Born On Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT COULD BE EXPIRED UPON DELIVERY: 150 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: 15 11 176 05 02
EXPLANATION OF MFG'S EXPIRATION DATE CODE: $11-YEAR$, $176-JULIAN DATE = 06/25/21$
DOES MANUFACTURER PRACTICE HACCP? Yes No Deliverycalendar days after receipt of order.

Item No.	Item Description	Qty	UOM		Extension
95.	CEREAL, DRY BOWL PACK, 20Z.	536,100	Portions	\$0.55	\$294,855.00
		8,935	Cases	\$32.94	\$47,240.00

- Flavors to include: General Mills Cheerios, Multigrain Cheerios, Rice Chex, and Cinnamon Rice Chex. One 2oz. bowl equals 2 grain equivalent.
- All flavors of the bowl packs listed must equal one whole grain in accordance with the USDA child nutrition program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: General Mills Cheerios #1, Multigrain Cheerios, Rice Chex, Cinnamon Rice Chex #148830, or equal. **PACK: 60**/case.

PACK IF DIFFERENT:	_BRAND IF DI	FFERENT:				
NUMBER OF CASES PER PALLET: 45						
NUMBER OF PALLETS PER TRUCKLOAD: 18						
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 45	5				
PRODUCT SHELF LIF ³¹² Days						
PRODUCT SHELF LIFE REFRIGERATED:	PRO	DUCT SHELF LIF	E FROZEN:			
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before			
Expires On	Pack Code <mark>X</mark>	Born On	Guaranteed Fresh			
MAXIMUM AMOUNT OF SHELF LIFE THAT C	COULD BE EXI	PIRED UPON DEL	IVERY: 150 DAYS			
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: 14NOV2021						
EXPLANATION OF MFG'S EXPIRATION DATE CODE: NOVEMBER 14, 2021						
DOES MANUFACTURER PRACTICE HACCP Delivery ¹⁰ calendar days after receipt of order.	?Yes No					

Item No.	Item Description	Qty	UOM		Extension
96.	CEREAL, DRY BOWL PACK, 10Z.	1,099,968	Portions	\$0.29	\$318,990.72
		11,458	Cases	\$27.52	\$315,324.16

- Flavors to include: General Mills Cheerios, Multigrain Cheerios, Rice Chex, and Cinnamon Rice Chex. One (1) 1oz. bowl equals 1oz grain equivalent in accordance with the USDA Child Nutrition Program.
- All flavors of the bowl packs listed must equal one whole grain in accordance with the USDA child nutrition program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: General Mills Cheerios, Multigrain Cheerios, Rice Chex, Cinnamon Rice Chex, or equal. **PACK**: **96**/case.

PACK IF DIFFERENT:	BRAND IF D	IFFERENT:				
NUMBER OF CASES PER PALLET: 45						
NUMBER OF PALLETS PER TRUCKLOAD: 24						
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 4	5				
PRODUCT SHELF LIFE _Days 312						
PRODUCT SHELF LIFE REFRIGERATED:	PRC	DUCT SHELF LIF	E FROZEN:			
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before			
Expires On	Pack Code	Born On	Guaranteed Fresh			
MAXIMUM AMOUNT OF SHELF LIFE THAT C	COULD BE EX	PIRED UPON DEL	IVERY: 150 DAYS			
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: 14NOV2	2021				
EXPLANATION OF MFG'S EXPIRATION DATE CODE: NOVEMBER 14, 2021						
DOES MANUFACTURER PRACTICE HACCP Delivery ¹⁰ calendar days after receipt of order.	?Yes No					

Item No.	Item Description	Qty	UOM		Extension
99.	BEEF STRIP SHAPED PATTIES PRECOOKED WITH TERIYAKI	50,000	Portions	\$0.25	\$12,500.00
	SAUCE	500	Cases	\$101.15	\$50,575.00

- Frozen, pre-seasoned, precooked ground beef (no more than 20% fat) charmarked strips seasoned with teriyaki sauce, and soy added.
- A portion is defined as Four (4) 0.7oz. pieces and provides 2oz. meat/meat alternate in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional analyzed on actual portion size, ingredient statement with allergens listed and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred along with both combi and convection oven cooking instructions. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Advance Pierre WonderBites Dippers #3827 (Teriyaki) or equal. PACK: 400/.7oz per case

PACK IF DIFFERENT:	_BRAND IF DIF	FERENT				
NUMBER OF CASES PER PALLET: 42						
NUMBER OF PALLETS PER TRUCKLOAD: 24						
MINIMUM ORDER QUANTITY STATED BY T	HE CASE:42					
PRODUCT SHELF LIFE ³⁶⁵ Days						
PRODUCT SHELF LIFE REFRIGERATED:	PROI	DUCT SHELF LIF	E FROZEN:			
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before			
Expires On	Pack Code \overline{X}	Born On	Guaranteed Fresh			
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXP	VIRED UPON DEL	IVERY: 150 DAYS			
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: 54 7 17	6 05 02				
EXPLANATION OF MFG'S EXPIRATION DATE CODE: 7-YEAR, 176-JULIAN DATE = 06/25/2017						
DOES MANUFACTURER PRACTICE HACCP Delivery ¹⁰ calendar days after receipt of order.	? Yes No					

Item No.	Item Description	Qty	UOM		Extension		
101.	CRAISINS, INDIVIDUAL PACKETS IN STRAWBERRY, BLUEBERRY, CHERRY, AND REGULAR FLAVORS	160,000 800	Each Cases	\$0.27 \$53.97	\$43,200.00 \$43,176.00		

- Sweetened dried cranberries 1.16 oz. = $\frac{1}{2}$ cup fruit contribution.
- Craisins must be peanut free and gluten free.
- A portion is defined as one (1) 1.16oz package that provides ½ cup fruit in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Ocean Spray #23445 strawberry, #23446 blueberry, #23444 cherry, or equal. PACK: 200/1.16 oz./case

PACK IF DIFFERENT:	BRAND IF DIF	FERENT:				
NUMBER OF CASES PER PALLET:50						
NUMBER OF PALLETS PER TRUCKLOAD:24						
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 50					
PRODUCT SHELF LIFE Days						
PRODUCT SHELF LIFE REFRIGERATED:	PROD	OUCT SHELF LIFE	FROZEN:			
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before			
Expires On	Pack Code	Born On	Guaranteed Fresh			
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXPI		/ERY: 125 DAYS			
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE: USE BY ()4-04/21				
EXPLANATION OF MFG'S EXPIRATION DATE CODE: APRIL 04, 2021						
DOES MANUFACTURER PRACTICE HACCP Delivery $\frac{10}{2}$ calendar days after receipt of order.	?Yes No					

Item No.	Item Description	Qty	UOM		Extension
102.	CRANBERRY SAUCE	1,200	Each (Can)	\$8.42	\$10,104.00
		200	Cases	\$50.49	\$10,098.00

- Grade A. Red color get to be tender to slightly firm and there may be evidence of a reasonable separation of free liquid.
- Required product information to include nutritional analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Clement Pappas, Ruby Kist #0100610RK, or equal. **PACK:** 6/#10 cans per case.

PACK IF DIFFERENT:	BRAND IF DIFFERENT: OCEAN SPRAY 1401				
NUMBER OF CASES PER PALLET: 56					
NUMBER OF PALLETS PER TRUCKLOAD: 15					
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 56				
MINIMUM ORDER QUANTITY STATED BY T PRODUCT SHELF LIFEDays	DAVO				
PRODUCT SHELF LIFE REFRIGERATED:	DAYS PRODUCT SHELF LIFE FROZEN:				
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before				
Expires On	Pack Code X_ Born On Guaranteed Fresh				
MAXIMUM AMOUNT OF SHELF LIFE THAT (COULD BE EXPIRED UPON DELIVERY: 360 DAYS				
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: 051221					
EXPLANATION OF MFG'S EXPIRATION DATE CODE: 05-MONTH, 12-DAY, 21-YEAR = 05/12/2021					
DOES MANUFACTURER PRACTICE HACCP Delivery $\underline{^{10}}$ calendar days after receipt of order.	?Yes No				

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
104.	SMOOTHIE BOWLS, 4.50Z.	919,968	Each	0.71	\$653,177.28
		9,583	Cases	\$68.23	\$653,848.09

- Scoopable smoothie bowls, thaw and serve, 4.5oz disposable cups.
- Each 4.5oz. cup must provide ½ cup fruit in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Dole Smoothie Bowls Mango Pineapple #00505, Strawberry Banana #00318, Pineapple Mango Banana #00506, or equal. **PACK: 96/4.5oz**. per case

PACK IF DIFFERENT:	BRAND IF DIFFERENT:					
NUMBER OF CASES PER PALLET: 56						
NUMBER OF PALLETS PER TRUCKLOAD: 24						
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: <mark>56</mark>					
BRODUCT SHELF LIFEDays						
PRODUCT SHELF LIFE REFRIGERATED:	_PRODUCT S	HELF LIFE FROZI	EN:			
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before			
Expires On	Pack Code	Born On	Guaranteed Fresh			
MAXIMUM AMOUNT OF SHELF LIFE THAT	COULD BE EX	PIRED UPON DEL	IVERY: 120 DAYS			
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE:					
EXPLANATION OF MFG'S EXPIRATION DATE CODE:						
DOES MANUFACTURER PRACTICE HACCP? Yes No Delivery ¹⁰ calendar days after receipt of order.						

Item No.	Item Description	Qty	UOM		Extension
105.	GRAHAM CRACKERS, 3CT	1,099,950	Each	\$0.14	\$153,993.00
		7,333	Cases	\$20.84	\$152,819.72

- A portion is defined as one (1) 3-count package that provides 1oz. grain equivalent in accordance with the USDA child nutrition program.
- Must be smart snack compliant.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD:, Ke	ebler Honey	Grahams #91822,	Keebler Original	Grahams #91829 or	equal. PA	ACK: 150 per case.

PACK IF DIFFERENT: BRAND IF DIFFERENT:						
NUMBER OF CASES PER PALLET:80						
NUMBER OF PALLETS PER TRUCKLOAD:24						
MINIMUM ORDER QUANTITY STATED BY THE CASE: 160						
PRODUCT SHELF LIFEDays						
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT SHELF LIFE FROZEN:					
PACKAGE SHELF LIFE CODE:(check one)	Use By Sell By Best Before					
Expires On X	Pack Code Born On Guaranteed Fresh					
MAXIMUM AMOUNT OF SHELF LIFE THAT C	COULD BE EXPIRED UPON DELIVERY: 60 DAYS					
EXAMPLE OF MFG'S. EXPIRATION DATE CODE: C0731111M						
EXPLANATION OF MFG'S EXPIRATION DATE CODE: 07-MONTH, 31-DAY, 11-YEAR = 07/31/2021						
DOES MANUFACTURER PRACTICE HACCP Delivery 10 calendar days after receipt of order.						

Item No.	Item Description	Qty	UOM		Extension
111.	BONELESS, SKINLESS CHICKEN BREAST FILLET WITH RIB MEAT	151,200	Portions	\$0.96	\$145,152.00
		2,800	Cases	\$52.10	\$145,880.00

- Fully cooked, boneless, skinless chicken breast with no rib meat.
- A portion is defined as one (1) fillet and provides 2oz. meat/meat alternate in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Tysons 38350-928 or equal. PACK: 10lb per case

PACK IF DIFFERENT:	BRAND IF DIF	FERENT:	
NUMBER OF CASES PER PALLET:119			
NUMBER OF PALLETS PER TRUCKLOAD: 2	24		
MINIMUM ORDER QUANTITY STATED BY T	HE CASE:119		
PRODUCT SHELF LIFE ³⁶⁵ Days			
PRODUCT SHELF LIFE REFRIGERATED:	PRODUCT	SHELF LIFE FRO	zen: 365
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT (COULD BE EXPI	RED UPON DELIN	/ERY: 240 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE:		
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE:		
DOES MANUFACTURER PRACTICE HACCP 10 Deliver <u>y 7</u> calendar days after receipt of order	?Yes No		

Item No.	Item Description	Qty	UOM		Extension
112.	TURKEY BREAST STEAK, COOKED, PRE-SLICED, 1.41 OZ	154,000	Portions	\$0.97	\$149,380.00
		2,618	Cases	\$136.25	\$356,702.50

- Boneless, fully cooked turkey breast in sealed bags that can be steamed.
- Product must be pre-sliced and each slice must provide 1oz meat/meat alternate equivalents and weigh approximately 1.41oz.
- Product comes in frozen, 99% fat free and gluten free.
- A portion is defined as 2 slices and provides 2oz meat/meat alternate equivalents in accordance with the USDA Child Nutrition Program
- This product must go through metal detectors assuring it is free of metal foreign objects.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Jennie-O 2307-24 or	equal. PA	CK: 4/6.17lbs			
PACK IF DIFFERENT:		BRAND IF DIFI	FERENT:		
NUMBER OF CASES PER PALLE	T: 72				
NUMBER OF PALLETS PER TRU	CKLOAD:2	21			
MINIMUM ORDER QUANTITY ST	ATED BY T	THE CASE: 72			
PRODUCT SHELF LIFE ³⁶⁵ Days					
PRODUCT SHELF LIFE REFRIGE	RATED:		SHELF LIFE FRO	ZEN: 365	
PACKAGE SHELF LIFE CODE:(c	heck one)	Use By	Sell By	Best Before	
Expi	res On	Pack Code	Born On	Guaranteed Fresh	
MAXIMUM AMOUNT OF SHELF L	IFE THAT	COULD BE EXPI	RED UPON DELIN	YERY:240 DAYS	
EXAMPLE OF MFG'S. EXPIRATION DATE CODE:					
EXPLANATION OF MFG'S EXPIR	ATION DA	TE CODE:			
DOES MANUFACTURER PRACT 10 Delivery <u>7</u> calendar days after rec					

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
115.	PASTA, PRE-COOKED PENNE RIGATI NOODLES	807,040	Portions	\$0.59	\$476,153.60
		6,305	Cases	\$37.72	\$237,824.60

- Precooked penne rigati noodles, frozen, made from 51% whole wheat durum flour.
- A portion is defined as ½ cup cooked pasta and provides 1oz. grain equivalent in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the latest USDA standards.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Marzetti #41308-31063, or equal. PACK: 20lbs per case

PACK IF DIFFERENT:	BRAND IF DI	FERENT:	
NUMBER OF CASES PER PALLET: 70			
NUMBER OF PALLETS PER TRUCKLOAD: 2	4		
MINIMUM ORDER QUANTITY STATED BY TH	HE CASE: 70		
PRODUCT SHELF LIFE ⁴⁵⁰ Days			
PRODUCT SHELF LIFE REFRIGERATED:	PRO	DUCT SHELF LIFE	FROZEN: 450
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXP		VERY: 115 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CO	DDE:		
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE:		
DOES MANUFACTURER PRACTICE HACCP Delivery ¹⁰ calendar days after receipt of order.	?Yes No		

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
116.	SANDWICH, PEANUT BUTTER & GRAPE JELLY PREMADE, PART	2,700,000	Portions	\$0.70	\$1,890,000.00
	WHOLE WHEAT BREAD, FROZEN	37,500	Cases	\$50.51	\$1,894,125.00

- Soft bread, peanut butter, and grape jelly sandwich without the crust. Bread is to be whole grain.
- Individually wrapped for thaw and serve 2.6oz
- A portion is defined as one (1) sandwich and provides 1oz. meat/meat alternate and 1oz. grain equivalent in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Smuckers #5150006960, or equal. PACK: 72/2.6oz per case

PACK IF DIFFERENT:	_BRAND IF DI	FFERENT:	
NUMBER OF CASES PER PALLET: 50			
NUMBER OF PALLETS PER TRUCKLOAD: 2	4		
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: <mark>50</mark>		
PRODUCT SHELF LIFE ²⁷⁰ Days			
PRODUCT SHELF LIFE REFRIGERATED:	_PRODUCT S	HELF LIFE FROZE	N: <u>270</u>
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code -	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT (COULD BE EX	PIRED UPON DEL	IVERY: 60 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE:		
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE:		
DOES MANUFACTURER PRACTICE HACCP 10 Delivery <u>calendar days after receipt of order</u> .	?Yes No		

Item Description	Qty	UOM	Price per UOM	Extension
FRUIT JUICE CUPS, FROZEN	499,968	Each	\$0.33	\$164,989.44
	5,208	Cases	\$31.89	\$166,083.12
		FRUIT JUICE CUPS, FROZEN 499,968	FRUIT JUICE CUPS, FROZEN 499,968 Each	RUIT JUICE CUPS, FROZEN499,968Each\$0.33

- Approximately 4.4 fluid ounce juice cup made from 100% juice. No artificial colors or artificial flavors.
- Flavors to include but not limited to wild cherry, orange, pineapple, mixed berry & lemon swirl.
- The fruit juice concentrate used to meet the fruit requirement must be stated and each portion must contain a minimum ½ cup fruit.
- A portion is defined as a one (1) frozen fruit juice cup that provides ½ cup of fruit in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: J&J Snack Foods or equal. PACK: 96 per case

PACK IF DIFFERENT:B	RAND IF DIFFERENT:
NUMBER OF CASES PER PALLET: 72	
NUMBER OF PALLETS PER TRUCKLOAD: 19	
MINIMUM ORDER QUANTITY STATED BY THE	CASE: <u>36</u>
PRODUCT SHELF LIFE ⁷²⁰ Days	
PRODUCT SHELF LIFE REFRIGERATED:PF	RODUCT SHELF LIFE FROZEN: 720 DAYS
PACKAGE SHELF LIFE CODE:(check one) Us	e By Sell By Best Before
Expires On Pa	ck Code Born On Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT COU	JLD BE EXPIRED UPON DELIVERY: 200 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE COD	E:
EXPLANATION OF MFG'S EXPIRATION DATE O	CODE:
DOES MANUFACTURER PRACTICE HACCP ? Delivery ¹⁰ calendar days after receipt of order.	/es No

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
129.	ROASTED SUNFLOWER KERNELS, IW	750,000	Each	\$0.67	\$502,500.00
		3,000	Cases	\$100.60	\$301,800.00

- Individually wrapped, 1.2oz. roasted sunflower kernels, shelf stable.
- Product must be smart snack compliant.
- Each 1.2oz. package must provide 1 meat/meat alternate in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Zee Zees #C87860 or equal. **PACK**: 250/1.2oz.per case

PACK IF DIFFERENT:	_BRAND IF D	IFFERENT:	
NUMBER OF CASES PER PALLET: 70			
NUMBER OF PALLETS PER TRUCKLOAD:2	4		
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 7)	
PRODUCT SHELF LIFE ³⁶⁵ Days			
PRODUCT SHELF LIFE REFRIGERATED:	_PRODUCT S	HELF LIFE FROZ	EN:
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before
Expires On	Pack Code	Born On	Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT (COULD BE EX	PIRED UPON DEI	LIVERY: 60 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE:		
EXPLANATION OF MFG'S EXPIRATION DAT	TE CODE:		
DOES MANUFACTURER PRACTICE HACCP Delivery ¹⁰ calendar days after receipt of order.			

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
136.	CHICKPEA SPREAD, 1.25oz. CHOCOLATE	79,992	Each	\$0.52	\$41,595.84
		1,111	Cases	\$37.09	\$41,206.99

- Chocolate flavored chickpea spread. 1.25oz single cups.
- Each 1.25oz cup must provide 1 meat/meat alternate and 1/8 cup vegetable (legume) in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product..
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: The Amazing chickpea #F9030 or equal. **PACK:** 72/1.25oz.cups per case

PACK IF DIFFERENT:	_BRAND IF DI	FFERENT		
NUMBER OF CASES PER PALLET:140				
NUMBER OF PALLETS PER TRUCKLOAD: 2	:4			
MINIMUM ORDER QUANTITY STATED BY T	HE CASE: 14	0		
PRODUCT SHELF LIFE ³⁶⁵ Days				
PRODUCT SHELF LIFE REFRIGERATED:	PRO	DUCT SHELF LIFE	FROZEN:	
PACKAGE SHELF LIFE CODE:(check one)	Use By	Sell By	Best Before	
Expires On	Pack Code	Born On	Guaranteed Fresh	
MAXIMUM AMOUNT OF SHELF LIFE THAT C	OULD BE EXF	PIRED UPON DELI	VERY: 120 DAYS	
EXAMPLE OF MFG'S. EXPIRATION DATE C	ODE:			
EXPLANATION OF MFG'S EXPIRATION DAT	E CODE:			
DOES MANUFACTURER PRACTICE HACCP Delivery ¹⁰ calendar days after receipt of order.	? Yes No			

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
137.	DRIED FRUIT 1.330Z, IW	80,064	Each	\$0.56	\$44,835.84
		556	Cases	\$66.86	\$37,174.16

- Dried fruit, 1.33oz, mixed variety.
- Each 1.33oz package must provide 1/2 cup fruit in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Zee Zees Dried Fruit #615789, or equal. PACK: 144/ 1.33oz per case
PACK IF DIFFERENT: 120/3OZ BRAND IF DIFFERENT:
NUMBER OF CASES PER PALLET: 130
NUMBER OF PALLETS PER TRUCKLOAD: 24
MINIMUM ORDER QUANTITY STATED BY THE CASE: 130
PRODUCT SHELF LIFE ³⁶⁵ Days
PRODUCT SHELF LIFE REFRIGERATED:PRODUCT SHELF LIFE FROZEN:
PACKAGE SHELF LIFE CODE:(check one) Use By Sell By Best Before
Expires On Pack Code Born On Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT COULD BE EXPIRED UPON DELIVERY: 120 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CODE:
EXPLANATION OF MFG'S EXPIRATION DATE CODE:
DOES MANUFACTURER PRACTICE HACCP? Yes No Delivery ¹⁰ calendar days after receipt of order.

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
138.	HUMMUS CUPS, SHELF STABLE 30Z CUPS	60,000	Each	\$0.57	\$34,200.00
		500	Cases	\$68.39	\$34,195.00

- Each 3oz. cup must provide one (1) meat/meat alternate and ¼ cup vegetable (legume) equivalent in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Zee Zees Original 3oz Hummus Cup #A5000, or equal. PACK: 120 per case PACK IF DIFFERENT: BRAND IF DIFFERENT: NUMBER OF CASES PER PALLET: 56 NUMBER OF PALLETS PER TRUCKLOAD: 24 MINIMUM ORDER QUANTITY STATED BY THE CASE: 20 **PRODUCT SHELF LIFE**³⁶⁵Days PRODUCT SHELF LIFE REFRIGERATED: PRODUCT SHELF LIFE FROZEN: PACKAGE SHELF LIFE CODE:(check one) Use By ____ Sell By ____ Best Before Expires On ____ Pack Code Born On ____ Guaranteed Fresh ____ MAXIMUM AMOUNT OF SHELF LIFE THAT COULD BE EXPIRED UPON DELIVERY: 120 DAYS **EXAMPLE OF MFG'S. EXPIRATION DATE CODE: EXPLANATION OF MFG'S EXPIRATION DATE CODE:** DOES MANUFACTURER PRACTICE HACCP? Yes No Delivery ¹⁰ calendar days after receipt of order.

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
140.	CHICKEN NUGGETS, BREADED HALAL	1,565,850	Portions	\$1.24	\$1,941,654.00
		10,439	Cases	\$185.26	\$1,933,929.14

- Fully cooked whole grain breaded chicken nuggets.
- A portion is defined as four (4) pieces or 3.2oz and provides 2 meat/meat alternate and 1 grain equivalent in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Midamar #MSnug01, or equal. PACK: 600/0.8oz. nuggets per case
PACK IF DIFFERENT: 30LB BRAND IF DIFFERENT: NATIONAL FOOD GROUP #616144
NUMBER OF CASES PER PALLET: 56
NUMBER OF PALLETS PER TRUCKLOAD: 24
MINIMUM ORDER QUANTITY STATED BY THE CASE: 20
PRODUCT SHELF LIFEDays
PRODUCT SHELF LIFE REFRIGERATED:PRODUCT SHELF LIFE FROZEN: 545 DAYS
PACKAGE SHELF LIFE CODE:(check one) Use By Sell By Best Before X
Expires On Pack Code _ Born On Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT COULD BE EXPIRED UPON DELIVERY: 120 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CODE:
EXPLANATION OF MFG'S EXPIRATION DATE CODE: BEST IF USED BEFORE 545 DAYS FROM PRODUCTION DATE
DOES MANUFACTURER PRACTICE HACCP? Yes No Delivery ¹⁰ calendar days after receipt of order.

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
142.	CHEESE DIP 20Z., SHELF STABLE	79,920	Each	\$0.65	\$51,948.00
		333	Cases	\$156.06	\$51,967.98

- Cheese dip 2oz. shelf stable.
- A portion is defined as one (1) 2oz. cup and provides 1 meat/meat alternate in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Highland Beef Farms Cheddar Cheese #DF17S, Chili con Queso #DF37 or equal. PACK: 240/2oz.
PACK IF DIFFERENT: BRAND IF DIFFERENT:
NUMBER OF CASES PER PALLET: 35
NUMBER OF PALLETS PER TRUCKLOAD: 24
MINIMUM ORDER QUANTITY STATED BY THE CASE: 35
PRODUCT SHELF LIFE Days
PRODUCT SHELF LIFE REFRIGERATED:PRODUCT SHELF LIFE FROZEN: 365 DAYS
PACKAGE SHELF LIFE CODE:(check one) Use By Sell By Best Before
Expires On Pack Code _ Born On Guaranteed Fresh
MAXIMUM AMOUNT OF SHELF LIFE THAT COULD BE EXPIRED UPON DELIVERY: 120 DAYS
EXAMPLE OF MFG'S. EXPIRATION DATE CODE:
EXPLANATION OF MFG'S EXPIRATION DATE CODE:
DOES MANUFACTURER PRACTICE HACCP? Yes No Delivery <u>10</u> calendar days after receipt of order.

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
145.	SWEET AND SOUR CHICKEN STIR FRY	80,028	Portions	\$1.08	\$86,430.24
		468	Cases	\$208.07	\$97,376.76

- •
- A portion is defined as twelve or . and provides. meat/meat alternate in accordance with the USDA Child Nutrition Program.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Minh's Sweet and Sour Stir Fry Kit #69016, or equal. **PACK::** 6/5lb bags chicken and 6/2/lb bags sauce per case

PACK IF DIFFERENT: 6/7.25LB BRAND IF DIFFERENT: YANGS #155517					
NUMBER OF CASES PER PALLET:35					
NUMBER OF PALLETS PER TRUCKLOAD: 24					
MINIMUM ORDER QUANTITY STATED BY THE CASE: 35					
PRODUCT SHELF LIFEDays					
PRODUCT SHELF LIFE REFRIGERATED:PRODUCT SHELF LIFE FROZEN: 365 DAYS					
PACKAGE SHELF LIFE CODE:(check one) Use By Sell By Best Before					
Expires On Pack Code _ Born On Guaranteed Fresh					
MAXIMUM AMOUNT OF SHELF LIFE THAT COULD BE EXPIRED UPON DELIVERY: 120 DAYS					
EXAMPLE OF MFG'S. EXPIRATION DATE CODE:					
EXPLANATION OF MFG'S EXPIRATION DATE CODE:					
DOES MANUFACTURER PRACTICE HACCP? Yes No Delivery ¹⁰ calendar days after receipt of order.					

Item No.	Item Description	Qty	UOM	Price per UOM	Extension
147.	HOT DOG, HALAL	360,000	Portions	\$0.43	\$154,800.00
		3,000	Cases	\$51.15	\$153,450.00

- Desired portion is defined as one (1) hot dog and provides 2 meat/meat alternate in accordance with the USDA Child Nutrition Program.
- Standard product portion listed is one (1) hot dog and provides 1 meat/meat alternate in accordance with the USDA Child Nutrition Program and is also acceptable.
- Required product information to include nutritional content analyzed on actual portion size, ingredient statement with allergens listed, and meal contribution in accordance with the USDA Child Nutrition Program. CN label is preferred. Letter of domestic certification is required on this product.
- "Sell by" "Use by" or any other type of food label dates noting expiration must be on each package or box.

STANDARD: Midamar #615567 or equal. PACK:	10/ 1.2oz hot dogs per case.
40/4007	

PACK IF DIFFERENT: 12/12OZ E	3RAND IF DIFFE	ERENT:				
NUMBER OF CASES PER PALLET: 42						
NUMBER OF PALLETS PER TRUCKLOAD:24						
MINIMUM ORDER QUANTITY STATED BY THE	E CASE: 42					
PRODUCT SHELF LIFE ³⁶⁵ Days						
PRODUCT SHELF LIFE REFRIGERATED:	PRODU	CT SHELF LIFE F	ROZEN: 36	5 DAYS		
PACKAGE SHELF LIFE CODE:(check one) U Expires On Pa	lse By	Sell By	Best Before			
Expires On P	ack Code _	Born On <mark>X</mark>	Guaranteed F	resh		
MAXIMUM AMOUNT OF SHELF LIFE THAT COULD BE EXPIRED UPON DELIVERY: 120 DAYS						
EXAMPLE OF MFG'S. EXPIRATION DATE COL	DE: 06522-	THIS IS A PRO		CODE		
EXPLANATION OF MFG'S EXPIRATION DATE	CODE: 065-65	TH DAY OF THE	YEAR / 22 YEA	AR OF PRODUCTION		
DOES MANUFACTURER PRACTICE HACCP ? Delivery $\frac{15}{2}$ calendar days after receipt of order.	Yes No					